SERVICE MANUAL

Turbo Deli Rotisserie

MODELS

TDR 5m
TDR 5p

TDR 7 m
TDR 7 p/i

=

‘ )

;F,
"Model TDR 7 p

- NOTICE -

This manual is prepared for the use of trained Service Technicians and should
not be used by those not properly qualified. If you have attended a training
for this product, you may be qualified to perform all the procedures in this

manual.

This manual is not intended to be all encompassing. If you have not attended a
training for this product, you should read, in its entirety, the repair procedure
you wish to perform to determine if you have the necessary tools, instru-
ments and skills required to perform the procedure. Procedures for which you
do not have the necessary tools, instruments and skills should be performed
by a trained technician.

Reproduction or other use of this Manual, without the express written consent of
Fri-Jado, is prohibited.

WTERTE,

\WTERTE, |
o ;;‘_ i @Tb) ( )
e rl-jado LISTED us ‘%'Qnou W

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021




TABLE OF CONTENTS

sMIPTY [PAGLE

Page 2

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



TABLE OF CONTENTS

Versions

Version

Issue date
dd/mm/yy

Remarks

2020

pre-release

Merging of previous manuals from TDR m, TDR p and TDRi.
Addition of TDRp with 9192400 pcb board

20210415

15-04-2021

First release

20210430

30-04-2021

Minor changes

20221118

15-11-2022

Dimention height TDR 7+7 from 82 to 82%

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 3



58S TABLE OF CONTENT
** fri-jado SRS -
INDEX

3o 1= 4

General technical data..........ccciiiiiii e ———————————————————— 6
Lol LT L= | D - - PR PPRRPRPPRPTN 6

Programming inStructions TDR Pr.....cciicieiiiimininninsisins i s s sse s s sass sassnasssans 7
CONNECTING MAINS POWET ....eeeeieeeeee e e e ettt e e e e e e e s e e e e e e e e s s sasseeeeee e e e e eaaanseeeeeeeseeaaansssnneeeaeeeeannnnnneeees 7
Overview Of CONTrOl PANEI ... et s e et s ne e e e ne e e eneeeaas 7
YT ol T o o o TSP 7
Entering the Manager OF SEIVICE MENU ....coiiuiiii ittt e e e e e s sne e e e nne e e e ennneeee s 8
The USB option read and store (cook books or parameters)..........coooueiiiiiiiiiiieeeceeeee e 10
The USB option transfer (error log and parameter settings)........ccccoeveeeeieriiienniieeee e 10
Files 0N the USB driVe (STFICE FUIES) ....ieeeee ettt ettt e e et e e e e e e e e e e e eaaeseeeeneseesenaeseeennnaseeennnaeeenns 11
Updating SOFEWAre TDRP.....co ittt e ae e e ae e e sae e e e ae e e ene e e s neeesnneeeanneeann 11
Manager and SErVICE PAramMETEIS .......cueii et e e s e e s e e s e e e e n e e e e ne e e anne e e anneeeas 13
DeSCription Of PAramMETEIS... ..o i e e e e e e e e e e e e e e e e nr e e e e e e e e e e e s nnnnnreeaaaas 14
The automatic COOK COTTECTION .......iiiiiei e e e e e e e e e e e e e nnne s 16
Default ParameEters USA ... ... ettt et e st e s st e e s ne e e s ne e e eneeeeaneeesnneeeanneeann 17

TDR8-i Programming iNSTrUCTIONS........ccuiiiiiiiiiiisinne s rnsssssssssss s ssssss s sms s s samn s n e s s s nnnnas 19
MENU SETEINGS TDR-T ..ttt e e e e e e e e e e e e e s e ane e e e e e nne e e e e e nnneeeeannneeesennneeeeennes 19
MERNU SETEINGS TDR =i ..o e s e e s s esn e snn e e e e nnes 20
First Settings and DiagnostiC TOOIS  TDR-i ....uuiiiiiiiiiiiecieie ettt e e e e 21
7@ I =Ly I ] PSP UPRPP 22
UPdating SOFEtWAre TDR-i....cueiiiiieieeiee ettt sa e s eae e e s e e snnesn e e snneene e 23
Default parameters Version 6.01.27 TDR-i ..ot e e e e e 24

R =] Tl 0T o X el =T« [T =T 26
Access to service parts TDR-P (2020).......ceeiiuieiiieieieeeeitee e ee et e e e e e e s esne e e e ssre e e e e eanee e e e ennneeas 26
Access 10 service parts stacked UNITS.... ... uueiiiiiie e e e e e e e 27
Operating Panel (GENEIaAI) .. .o it n e e ne e s s re e e ane e e eaneas 28
(@ U o Yo T o PRSPPI 28
BIrOKEN DUZZET ...ttt e et e e s e e e ne e e e ne e e e nne e e e ne e e enneeeanneeean 29
(1G] o - Lo FO PRSPPI 29
[ To o] g3 1LY/ ol o T PSPPSR 30
ROTOT SWITCN <. e e s ne e e e e e e e ne e e emne e e enne e e enneeeanneeean 30
(U= o] =TT T - T -T2 0T o TSP UPRPP 31
(=T 0'0T o 3N aTo] (o [T o PRSPPI 31
2] o XYY 4y o) o) GRS EPOPRP PR PPRPPRIN 32
(LT T a Yo T=Y =T o LT o PSP RRPSURRPP 33
(200} do ] e [E NV 43 To) Lo PRSPPI 34
High [Imit thermoOstat.......ooo e e e s s snr e e s eeane e e e e e nnes 36
gl I 000y o Y SRR 36
[ To Yo g g Y Lo [PPSR 37
(D ToToT gt 1 ko [ IR PRP PR PPRPPRIN 37

EleCtrical teSTS. . oiii i 38
Measuring the heating €lements..........oo e 38
MEASUIING the BIOWENS. ...cci it et e e e st e e e s sne e e s e enneeeesnneeeeeennes 38
Measuring the RoOtor (Arive) MOTON .....c.eeiiee e e e e e e e e nnes 40
Measuring the S500VV [amIP.......ooiiuiiiiiiieeie e e e e ne e e e n e e e emne e e anneeea 40
Measuring the PTT000 SENSON .....ccuueieiiiiiieeseetieee e ettt e e e s sare e e s ssseeessaseeeeesanseeesesasseeessanseeessanseeeeesnnnns 40

Trouble SHOOTING .....cuiiii i 41
OVErVieW Of €rrOr COUES TDR-P . .iiiiiiiiiiieeiiieeeiee e rtee et e e st e e e ste e e s st e e e aee e sse e e s see e sseeesnneeesnseeennneeeanneas 41
Error 55 @XPlanation ... e e e e e e e e e ——— e e e e e e e e nnnnreaaaaan 42
Trouble shooting by SYMPTOM. ... ..o e 43
Trouble shooting by part / FUNCLION. .......ooiiii e 45

Page 4 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



593
TABLE OF CONTENTS I fri-jado
Trouble shooting the TDW Warmer........c.oii i 49
Exploded views and partsSlists ...........cccooeriiiiiicccicciiei s csseee e mn e e nnnnn s 50
LI 2 o = 1= d g Ter= | B o -1 PRSPPI 50
TDRp, Parts list EI@Ctrical Parts.......ooo it 51
TDR-P/l CONNECLOrs @Nd WilING ..uueiieiiiiiieeceitiee et e e e e s e e s sae e e e s snae e e e s ensre e e e e nsseeeeesnnnneeas 52
TDR-p/I Parts list CONNECLOrs @aNd WIFING ........eeiiiiiieeeeeiee et e e e e e nne s 53
TDR-p/l, Electrical parts untill serial number 100097687 ..........coo i 54
TDR-p/l, Parts list Electrical parts untill serial number 100097687 ...........cccccmiiieeeeeeeecciiieeeee e 55
LIS 30 4 T =3 =Tt g et | e - USSR 56
TDRmM, Parts list El@Ctrical PArts ........ooeeoi oot e e e e e e e e e e e e e nnas 57
LI G T Yo T 3SR 58
I =Y K3 113 o o oY 59
B0 2 1 L0 T a4 o 60
TDR Parts list HIUMINGtioON c.cccceeeee e 61
I 1 T 2 () (o) Pt 62
TDR 7/8 ROTOI ettt ettt e e e e e e et e et e ee e e e e e e asaaeeeeeeaeea s sssssseeeeaeeaaassssssseeaasseaaasnssseneaesaeannnns 62
TDR 5 Parts liSt ROTOI oo 63
LD 2T o [T | ] T SO STPRPP ST 64
QLI 2 < T 1= = 41 o TP 64
TDR 5/7/8 Parts list HEating ...ccuiieeiee ittt e s e e e e e e s nnae s 65
I 2T A T=T=y o =Y = | 66
TDR 5 Parts list SHEEt METAl ....ccoeeeeeeeee et e e e e e e e e e e e e e e e e e aaa e e eees 67
TDR 7/8 SNEET METAl oo 68
TDR 7/8 Parts list SNEEt METAI ....coeeeeeeeeeeeeeeeeeee e e e e e e e e e e e e e e e e eee s 69
L T (Y QY= PP 70
Electrical diagrams .........cccoiiiccimiiiiiiie s ssssss s ss e s s me s s ssn e e s s nn e s e samn e s e s ann e e e s s nn e e e e e nnn e e e a s nnnn s 72
Circuit diagram TDR 5P and 7p (from serial nr. T00097688) .........cccccueireeiieieeeeieeeeeecreeeeeereee e e 72
Wiring diagram TDR 5P and 7p (from serial nr. 100097688).........ccccueriumerirerieerieesee e 73
(@YY VYY) @ L U o Yo Y- e [ 74
Overview of Power & I/0 board (from serial nr. T00097688) .......ccooeeiiieeeeeeeeieeeeeeeeeeee e e 75
Circuit diagram TDR 5P and 7p (untill serial nr. T00097687)......cccoeiuiiiiiiiiieieeieiee e 76
Wiring diagram TDR 5P and 7p (untill serial nr. T00097687) ......cccueeriiiiiiiee e 77
Circuit diagram TDR 5mM @Nd 7M.ttt e e e e e e e e e e s e nn e e e e seane e e e e ennes 78
Wiring diagram TDR 5mM @nd 7mM ...t 79
Circuit diagram TDVWV 5 ...ttt e st e e e e sb e e e s aase e e e e e nne e e e s ennseeeesnneeeeeennes 80
Circuit diagram TDVWV 7 ...ttt e e e e e e s e e e e e sne e e e e ane e e e e e mnn e e e eanneeeeaannneeeeennns 80
Wiring diagram TDWV 5. ... e e e e e n e e e e ne e e e e e e enne e e enneeenes 81
Wiring diagram TDWV 7o iiee e ceeieee et ee ettt s sttt e e et e e s et e e e st e e e e e nse e e s snnae e e s ensseeeeeannneeeesnnnenas 81
Electrical diagrams (before september 2014) .........ccccriiicciimiiciinrccsrr e nn s 82
Circuit diagram TDR 5P and 7p (Untill serial number 100069000) .........cccouieririiiirriniiieee e 82
Wiring diagram TDR 5P and 7p (Untill serial number 100069000)...........ccceevvvuieeeiiiieereenieeeeeseeen 83
Circuit diagram TDR 5P and 7p (Untill serial number 100059841) ......cccovciieeeeiieeee e 84
Wiring diagram TDR 5P and 7p (Untill serial number 100059841).........cccooiiimiiiimeinieeeeeeeseeeee 85
Circuit diagram TDR 5P and 7p (Untill serial number 100058736) ......ccccecuerieriieereiniiieeeenieeee e 86
Wiring diagram TDR 5P and 7p (Untill serial number 100058736)........ccccceveiuiieeeiiiieeeeseeee e e 87
Circuit diagram TDR 5m and 7m (untill serial number 10005984 1)........cccoieriiiiiierinieee e 88
Wiring diagram TDR 5m and 7m (untill serial number 100059841) .........coovviiieeriiiiiieeecieee e, 89
Circuit diagram TDR 5m and 7m (untill serial number 100058736)........cccceeeeeiiereeeeireeeeeeeeeeeennes 20
Wiring diagram TDR 5m and 7m (untill serial number 100058736) .........ccceerimerrimeenineeseeeeeee e 91

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 5



35 GENERAL TECHNICAL DATA
*? fri-jado
This manual covers the TDR electric oven models.

All of the information, illustrations and specifications contained in this manual are based on the
latest product information available at the time of printing.

TECHNICAL DATA

American Models TDR 5 TDR 7 TDR 5+5 TDR 7+7
Dimensions
- Width 33inch 39 Yainch 33inch 39 Y inch
- Depth 28 inch 32 34 inch 28 inch 32 34 inch
- Height 35 Yainch 41 Ya inch 70 inch 82 ¥s inch
Weight
- Gross 353 Ibs 463 Ibs 661 Ibs 937 Ibs
- Net 287 lbs 408 Ibs 586 lbs 827 lbs
Maximum ambient temperature | 95 °F 95 °F 95 °F 95 °F
Sound pressure < 70 dB(A) <70 dB(A) | <70 dB(A) < 70 dB(A)
Electrical installation Frequency 50/60 Hz 50/60 Hz 50/60 Hz 50/60 Hz
- Required power 6.6 kW 10.5 kW 2x 6.6 kW 2x 10.5 kW
Length of power cable approx. 75 inch 75 inch 75 inch (2x) 75 inch (2x)
Delivery connection Voltage 3~208V 3~208V 3~208V 3~208V
- Max. nom. current 189 A 30.8 A 2x 18.9 A 2x 30.8 A
Plug NEMA15- NEMA 15- 2x NEMA 15- 2x NEMA
30P 50P 30P 15-50P
Recommended breaker |20 A 35A 20A 35A
Single phase connection Voltage 1~208V 1~208V 1~208V 1~208V
Max. nom. current 32 A 51 A 2x 32 A 2x 51 A
Recommended breaker | 35 A 60 35A 2x 60 A
Tools
e Standard set of tools. e Temperature tester.
e Metric wrenches, sockets and hex socket key e Insulation value tester (Megger).
wrenches.

e Multi-meter and AC current clamp meter. * Field Service Grounding Kit.

Page 6 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021




PROGRAMMING INSTRUCTIONS TDR P

-

o=
C X )

[ 1}

/
0

fri-jado

CONNECTING MAINS POWER

Messages on screen when connecting mains power.
Note the bootloader version.

Bootloader (Vx.xx.xx)

Bootloader (Vx.xx.xx)
No USB stick found

Starting application

Bootloader (Vx.xx.xx)
Loading application
In progress ...%

Bootloader (Vx.xx.xx)

Parameters init OK

L

Checking CRC
In progress ...%

OVERVIEW OF CONTROL PANEL

Functional keys are lit.  In this case only the On / Off key. (mains is connected)

Read language files

Key Function
ON/ OFF |Switching the unit on/ off (3 sec)
UNDO Go back to previous menu

LIST Recipe / Programming modus

5

< (]

FORWARD
OK
BACK

One step ahead in choice / setting
Acknowledge a function or change
One step back in choice / setting

ROTOR

Switching the rotor ON

SWITCHING ON

Push [£J to switch on. (push 3 seconds to switch off)
The following messages appear.
Note the software version (firmware)

i

Bl

J

5]

-«
-

o fri-jado

Rotisserie in “ON" position.

The keys are only il-

luminated when more than

Ll

L
=

<

interface P Eco
TDR
\Version x.X.x

2 programs are stored.

[Chicken

(]

log 99 1234667
Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021 Page 7



/3 PROGRAMMING INSTRUCTIONS TDR p

'? fri-jado
ENTERING THE MANAGER OR SERVICE MENU

Entering the manager menu Entering the service menu
Chicken Chicken
98 99 1 234667 9899 123466

ﬁ 5 sec.

7
o |5l |m o |5 |m

e (@) (@ o) (a») (e
—| V] IIl= = V]|
r—) >
S &
Choose figure Choose figure
default 1111 and confirm (4x) 4878 and confirm (4x)
Pin 0 . . . Pin 0 . . .
- )(a») (e» - )(a») (=
Enter your user code == [V Enter your service code | ||| = v

The following options appear on the bottom| [The following options appear on the bottom
ine. line.
Usb - Programming- Parameters- Change pin-| [Usb - Function- Parameters- Clock- Counter-

Clock- Transfer- Version. Operation- User pin- Fault- Test Prog- Set
Select an option with and confirm with| |Demo On.

E S_elect an option with and confirm with

Options in the manager menu

Option Description

USB Store cook-books to USB, or Read cook-books from USB
Programming | Make, edit or delete cooking programs

Parameters Edit manager parameters. (service parameters include these as well)

See manager parameters below.

Change pin Pin 0000 gives free access. Default Pin code is 1111. Only active if in the
service menu, the <user Pin in use> parameter is set to <Y>

Clock Set time / date and format time / date (12 / 24 clock)
Transfer Stores error log and parameter settings on 2 separate files on USB
Version Shows the software version

Page 8 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



PROGRAMMING INSTRUCTIONS TDR p

] fri-jado
Options in the service menu
Option Description
USB Store cook-books and / or parameters to USB.
Read cook-books and / or parameters from USB.

Function Function test of inputs and outputs, including the keypad

Parameters Edit manager parameters.

Clock Set time / date and format time / date (12 / 24 clock)

Counter In this menu you can view the total working hours of the fan, gearbox and
heaters. After replacing one of these parts you have to set the counter on
zero again.

Operation In this menu you can view the total hours of operation of the rotisserie. This
value is not resettable.

User pin In this menu you can view the current set pincode. This code can only be
viewed and not changed.

Fault In this menu you can view all occurred errors and, if applied, in what
cooking program.

Test prog In this menu you can start a test program. This fixed program has one

cooking step of 250°C for 20 minutes and a holding program of 85°C and 10
minutes.

Set demo on

In this menu you can set the machine into a demonstration mode. In de-
monstration mode the machine will not turn the heating elements on and
will simulate the machine heating.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021 Page 9



é PROGRAMMING INSTRUCTIONS TDR p

f ri-jado
THE USB OPTION READ AND STORE (COOK BOOKS OR PARAMETERS)

Enter the manager or service menu as described before.
Also see chapter “Files on USB drive”

[Manager menu Servicemenu
() (e
[ UsB |Edit [ usB Fu.. | < ‘ = |V
1 |
<« Read Store—
I 1
[USB read and store USB read and store
|  Read | Sto. Read Store |
r— — 4 — — — — — — } — — - Choice of parameters only in ser-
| [Read from stick [Store on stic I,'Ivice menu
| | Recipes | Par. | Recipes | Par. |
L -t - -4 Choose character with and
A--mmmmmmee V| for next one.
| Read stick | Save| File name | d Flnalipush Vo an empty field
and again to save.

When reading Recipes (cook-books) or Parameters from the USB drive,
you have to choose which one, if there is more then one file.

Cook-books are stored or red from the folder “PROGRAMS” .
Parameters are stored or red from the folder “PARAMETERS".
The files are .csv files

THE USB OPTION TRANSFER (ERROR LOG AND PARAMETER SETTINGS)

Enter the manager menu as described before.
Also see chapter “Files on USB drive”

Manager menu ———  —
- a») (e
Clk | Transfer  |Vers.| | ||= vV
Insert stick and press _
[enter V Insert the USB drive and press

2 files are being stored in the folder “DUMP".
These are “log.csv” and “params.csv”

Page 10 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



PROGRAMMING INSTRUCTIONS TDR p

> -

o
o
(]

fri-jado

FILES ON THE USB DRIVE (STRICT RULES)

These files can be found on the USB drive

v || TDRP FILES (E:) B LOG.CSY regarding the TDRp.
42-P+CPU H=| PARAMS.CSV  The highligted folders and files are fixed and
DUMP - made by the TDRp controller.
@“‘“ PAR1.CSV :cl'rl:e other 1fcil_e§c car|1 be named by yourself, but
PARAMS ﬂ; PARD.CSV ere are strict rules.
PROGRAMS -] AUTOPARCSV  Note that all files are .csv files and can be red
: or modified with applications like excell.

v [ v1_05_07zip
v V1.05.07

The parameter files in “DUMP"”and "PA-
RAMS” contain the complete parameter list,

- L
I;rj PROG1.CSV including the service parameters.

42-P+CPU Y - PROG2.CSV

Ej AUTOPROG.CSV The files in “PROGRAMS"” contain a list of
. recipes.

Automatic uploading of parameters and programs.

Be sure that the parameters and programs are copied in files with the names “autopar” or
“autoprog” on a USB drive. =

Put the USB drive in the socket and switch ) ON the rotiserie. Wait for the message to take
out the USB drive.

Strict rules for folders and files on the USB drive.

e Own made programs have to be put in the folder “PROGRAMS".

e Customized parameter lists have to be put in the folder “PARAMS".

e The name of a file may not exist of more than 8 characters and can’t have a space bet-
ween the characters.

e Itis not allowed to have an open line in the “excell”recipe list.

e All file names must have the extension “.csv”.

When the message “files not found” is indicated on the display, one of the above might not
be in order.

Also malfunction of the USBdrive can occur.

A software update might help too.

UPDATING SOFTWARE TDRP

: Updating the software can be done:
R i = e When certain features come available
42-P+CPU e When a bug is fixed.
e When the controller is acting strange or crashed
DUMP
The zip file with the latest software can be found on the Fri-
PARAMS Jado website.
PROGRAMS At_ the moment of writing, th_is i_s ve_rsion V1_05_07. _
5 It is not necessary to place this zip file on the USB drive.
W ; V1_05 07.zip The folder 42-P+CPU however must be copied or moved di-
rectly on the USB stick. Not in a folder deeper!
W V1_05_07
47-P+CPU See update procedure on next page

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 11



PROGRAMMING INSTRUCTIONS TDR p

Preparing the software (firmware)

The software comes in a .zip file. The name cor-
responds with the version of the software. For
example: V1_05 07.zip.
1. Extract the zip file
v B V1_05_07zip
b V1_05_07
42-P+CPU

2. Copy or move the folder “42-P+CPU" to the
USB drive.

~
J"
o » THi;

42-P+CPU %

Updating the software (firmware)

1. Disconnect the mains supply

o B

2. Connect the USB drive.

El a i «v&a"‘

3. Connect the mains supply

4. The following messages appear

Bootloader version V1.01.02
-USB stick found
starting upgrade

-Checking CRC
In progress

-Copying file
-Loading application

-Checking CRC

-Please remove USB stick
to start application

5. Disconnect the USB drive.

L
u ,;{d ** fri-jado E—
N

Page 12

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



PROGRAMMING INSTRUCTIONS TDR p

MANAGER AND SERVICE PARAMETERS

Fntering the manager parameters Entering the service parameters
Chicken Chicken
98991234667 98991234667

(@) ) T
0 S| M O
> (a») () (@)
V]| [|= &
= >
ey &
Choose figure Choose figure
default 1111 and confirm (4x) 4878 andconfirm (4x)
Pin O . . . ____ ____ Pin O . . .
I — D —
Enter your user code &= \/ Enter your service code &= H = \/

| |
Manager menu = (e (@ Servicemenu o (@ (@
Edit | Parameters | Pin | L&) i Fu.. |Parameters | Gi.. == i
\//

Preheat allowed: NO

Cha.| NextPar. | Prev

Use YJ and <Next Par.> to scroll through the parameter list.

Push =) for the < Change> option and confirm .

Use and Y to change and jump back to <Next Par>

Use to scroll to <Save>, confirm with J and confirm again with
Use (2] to step back (undo) if applicable.

Note that the manager menu only shows the green fields from the list below.

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 13



o
/
[

PROGRAMMING INSTRUCTIONS TDR p

'? fri-jado
DESCRIPTION OF PARAMETERS

In the manager menu, only the green parameters are visible

Parameter

Description

Preheat allowed

Enables or disables a preheat step prior to the cooking program (steps)
Yes > Preheat is allowed. In the cooking program you can still choose
whether or not to preheat.

No > Preheat is disabled.

Preheat temp

This is the default preheat temperature setting. Can be changed in the
cooking program.

Holding allowed

Enables or disables a warm hold step at the end of the cooking program.
If “no” is selected holding is not possible, even if there is a program with
a holding tep.

Cook corr. option

Holding temp This is the default holding temperature setting. Can be changed in the
cooking program.
*Cook correction | Enables or disables the cook correction function. See description below.

Cook cor. fact.

# Eco function

Ecocook option

Enables or disables the Eco mode.

The heating is being switch of a few minutes before and the accumu-
lated heat of the cooking cavity will be used to finish the product. The
cooking time wil be a few minutes longer.

Ecocook var.

This parameter alows to set the variable of the ecocook. Var. adjustable
from 1 to 9. This is the percentage of the total cooking time.

Language

Choose of available language.

Big digits

Choice for big digits on the display during preheat, cooking and hold
cycle.

Sound preheat
T1

Choice of sound at the end of the preheat step. You can choose 3 diffe-
rent sounds (T1-T2-T3) and the level of the sound (up to 4 white blocks)
or no sound (no white block).

Sound step T2

Choice of sound at the end of the first grilling step. You can choose 3
different sounds (T1-T2-T3) and the level of the sound (up to 4 white
blocks) or no sound (no white block).

Sound done T2

Choice of sound at the end of the grilling step(s). You can choose 3 diffe-
rent sounds (T1-T2-T3) and the level of the sound (up to 4 white blocks)
or no sound (no white block).

Temp. unit:

Choice of Celcius (°C) or Fahrenheit (°F).

Boost allowed

Possibility to add extra cooking time in minutes at the end of the
cooking cycle.

User PIN in use

N — No pin code will be asked for the manager menu
Y — Unless changed, the default pincode 1111 will be asked. 0000 will
still be free access

1 Only visible when “Cook Corr. option” in Service Menu is set on “yes”
2 Only visible when “Ecocook option” in Service Menu is set on “yes”

Page 14

Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



PROGRAMMING INSTRUCTIONS TDR ";‘.‘. -
: ** fri-jado
Parameter Description
Lights out Choice of lighting during opening of the door in standby position.
Y — The lights will go on for 20 seconds.
key beep choice for beep or no beep, with key operation.

Temp. offset

Temperature offset of PT1000 sensor.
Example: at a set point of 180°C (355°F) and an offset of -20°C (-35°F) ,
the oven cavity will be controlled on 200°C (390°F)

Key sens Adjustment of the sensitivity of the keys. Sensitivity is highest on value 1
and lowest on 9.
Temp. grad. This parameter allows the setting of the minimal temperature rise, in °C

/ 2minutes, of the PT sensor during the preheat, cooking or hold step.
This parameter is used for the error 55 test.In this test the measuring
only starts 5 minutes after beginning of a heating step. Duration of the
test is 5 periods of 2 minutes. Measuring stops at 150°C/302°F or when
temp. in the cabinet is < 30°C than the set temperature. When the
temperature rise is lower than 0.5°C per 2 minutes during 5 consecutive
periods, an “error 55” will be indicated and the machine switches off.

Second display

Setting of the display on customer side.

0 = Second display has only the rotor function.

1 = Second display has only limited functions like viewing during
cooking proces.

2 = As 1 + possibility of selection of programs and starting.

3 = Not in use.

Thermistor Enables or disables the detection of the thermistor in the blower . See
error 66.
Hood check Enables detection of feedback signals from the hood, if applicable. Not

in EUR versions.
See error 91 and 92

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021

Page 15



o
/
0

PROGRAMMING INSTRUCTIONS TDR p

fri-jado

THE AUTOMATIC COOK CORRECTION

The automatic cook correction facility will automaticly add or deduct time to the pro-
grammed cooking time in order to have constant cooking quality.

After programming a new program, the first cooking process will be the “learning” process.
It is recommended to do the first cook with a half load.

The program calculates the surface from the
diagram below the curved line. (tempera-
ture * time). The result is the so called heat
number. This heat number is stored into
the cooking program.

All further cooking programs will try to get
the same heat number.

The second diagram shows an example with
full load. It takes more time for the unit to
reach the programmed cooking tempera-
ture. See dashed line. The surface above
the dashed line represents the missing part
of the heat number. The cook correction
will put this missing part behind the nor-
mal cooking time. Therefore extra time is
added in order to reach the desired heat
number.

It is also possible that time is deducted in case
a smaller load has been put into the oven.

Time will be added in case of:

A bigger load.

A colder load. (straight from the freezer)
A lower mains voltage.

Somebody opened the door.

Time will be deducted in case of:
A smaller load.

A warmer load. (defrosted)
Higher mains voltage.

Note that:

In case the time or temperature will be
changed in the cooking program, the heat
number will be adapted with this amount.

°C | Temparature curve
T with half load
Cooking time—>
Full load

°C

Extra time ——=

The heat number is stored in the cooking
program. In case such a program is cop-
ied with FIPS (see additional software),
the heat number goes with it.

It is possible that in case the program has
changed a lot, the cook correction is not
able to perform well anymore. In that
case the program has to be deleted and
reprogrammed with the good param-
eters.

It is possible to disable this auto cook cor-
rection feature in the service parameters.
See “parameter listings” -> “auto correct.

Page 16

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



o ™o

PROGRAMMING INSTRUCTIONS TDR p "i.f. . .
*? fri-jado

Level 1 Level 2 Default Possibilities
Information 1.05.2007 | software version
Manager 1M1

Preheat allowed yes yes - no

Preheat temp 425 50 - 250

Holding allowed no yes - no

Holding temp 160 50 - 250

Cook Correction 1 | yes yes - no

Eco function 2 no yes - no

Language English "English - Nederlands - Deutsch - Francais -Espanol - Russian™

Big Digits yes yes - no

Sound preheat T, |T1-T2-T3

Sound step T2, BIll] [T1-T2-T3

Sound done Il |T1-T2-T3
Service 4878

Preheat allowed yes yes - no

Preheat temp 425 50 - 250

Holding allowed no yes - no

Holding temp 160 50 - 250

Cook corr. Option ' | yes yes - no

Cook corr. factor2 |3 1-6

Ecocook option no yes - no

Ecocook var 6 1-9

Language English "English - Nederlands - Deutsch - Francais -

Espanol - Russian"

Big Digits yes yes - no

Sound preheat T, |T1-T2-T3

Sound step 2, LI1] |T1-T2-T3

Sound done Il |T-T2-T3

Temp unit °F °C-°F

Boost allowed yes yes - no

User pin in use yes yes - no

Lights out yes yes - no

Key beep yes yes - no

Temp offset 0 -50 - +50°C or -100-+100°F

Key sense 7 1-11

Temp grad 3 "0-19

0 = disable error 55"

Second Display 0 0-1-2-3

Thermistor 3 no yes - no

Hood Check no yes - no

1 Only visible when “Cook Corr. option” in Service Menu is set on “yes”
2 Only visible when “Ecocook option” in Service Menu is set on “yes”

3 May be put on yes in case serial number higher than 100067526

’

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 17



PROGRAMMING INSTRUCTIONS TDR p

EMIPTY [PAG[E

Page 18

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



TDR8-| PROGRAMMING INSTRUCTIONS i i-jado

MENU SETTINGS TDR-I

To enter the set up of the TDR AC
press the on/off key for 3 seconds.
The main screen will show 3 options:

Selection buttons

) * operate
Display + program
» settings

Select the program by pushing the
corresponding key.

Rotation pad

on/ off key

operate Operate The operator menu will allow the user

SSiedt fogran to run cooking and cleaning programs
CHICKEN
PROG1
PROGZ 30
BREAD 15
Use arrows to select program D

program . .

Program Within the program menu the user can
edit or add additional cooking pro-
grams.

e The cooking programs can be “pin

code” protected in the manager menu.

edit program

delete program
test program

alphabetic sort

Use arrows to select action

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 19



TDR i Programming instructions

settings Settings

Information

The Information screen will display the following information
about the rotisserie:

information

manager Device type (TDRI)

* Firmware version of the CPU board (version: 6.01.27

» Last error

« Firmware version of the 1/0 board (MFMB:v1.00)

service

Use arrows to select setting

Manager

The manager settings are used to change local settings like
temperature, date/time or to load recipes. A complete overview
can be found in the TDR ac service manual.

No pin code is required if it is set to the default value “0000”

Service

A complete overview of service settings is available. Use pin
code 4878 to enter the menu.

Page 20 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



o ™o

fri-jado

FIRST SETTINGS AND DIAGNOSTIC TOOLS TDR-I

TDR i Programming instructions f

e

settings Miscellaneous service settings

device type
After replacing a cpu board the device type needs to be

device type

filled in.
Auto-correct time
set language set language
- = The next setting after replacing a board is to set langu-
manual operation
age to local.
Use arrows to select setting
settings
Auto-correct time
set language
manual operation Error hlStOfy
error history Read out
Save on USB stick
save error history C|ear errors
clear error history
correct-factor
Use arrows Lo select setting
settings Pin code program menu

Go to: settings->manager->change pincode to protect the program
and manager menu with a pin code.

The system will not ask for a pin code if the default 0000 value is
being used.

You can view the program pin code via: settings->service-> pin code

change pincode

save recipes

load recipes

Load messages

Use arrows to select setting

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 21



TDR i Programming instructions

settings
delete all programs
PID factors

Energy

ignore errors
save HACCP log
save parameters

Use arrows to select setting

setbings

alarm

Front panel
MFMC inputs
MFMB inputs
MFME outputs

Use arrows to select setting

settings

alarm

Front panel

MFMC inputs

MFMB inputs 0
MFMB outputs

MES1 inputs

MFS1 outputs

Use arrows to select setting

Front panel

MFMC inputs

MFMB inputs

MFMB outputs Q
MES1 inputs

MFS1 outputs

Use arrows to select setting

Page 22

The 1/O test function gives possibili-

, A - Key input test
ties to:

B - Read out temperature of board
C - Read out inputs

1. Check the key pads. D - Controlling of outputs

2. Read out the input signals.

3. Control the outputs. MC = CPU board

Go to settings -> service -> 1/O test. MB = Power&l/O board

settings

alarm

Front panel
MFMC inputs
MFMB inputs
MFMB outputs

MFES1 inputs

Use arrows bo select setting

X7 fan slow sta
X6 fan on X6 fan on

X8 steam pulse X8 steam pulse

X11 light X11 light

X12 spit'rotor X12 spit'rotor

¥13 blower in hood X13 blower in hood

Use arrows to select setting Use arrows to select setting

Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



\
[
[

TDR i Programming instructions

> -
[ 1}

UPDATING SOFTWARE TDR-I

Preparing the software (firmware)

. e 3. Connect the mains supply
The software comes in a .zip file. The name cor-

responds with the version of the software. For

example: V5_00_13.zip. I ‘
After extracting -

4 Ji v5.0013
4 | V50013 .
| 42-1-CPU 4. The following messages appear
b |4y v5_0013.zip Bootloader version V1.02.02
-USB stick found
1. Extract the zip file starting upgrade

-Checking CRC

Ps [} ;fr'

. w -Copying file
4-|1+CPU £ -Loading application

-Checking CRC

2. Copy or move the folder “42-1+CPU’ to the

USB drive. -Please remove USB stick

to start application

5. Disconnect the USB drive.

n ,‘{J i@ frl-jado _—

Updating the software (firmware)

1. Disconnect the mains supply

- ?‘

2. Connect the USB drive.

In case the board has just been put into
a unit, it has to be set to the right de-
vice type! ->TDRac

- ’ *“o

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 23



TDR i Programming instructions

DEFAULT PARAMETERS VERSION 6.01.27 TDR-I

Level 1 [ Level 2 Level 3 Default Possibilities
Information 6.01.27 software version
Manager

Change Pin code 0000 0000 - 9999

Save Recipes
Load Recipes
Load messages

Light off on - off

Temperature °C °C-°F

Set time Local time

Set date Actual date

Time format 24 hr 24 hr - AM/PM

Date format DMY DMY - MDY

Alarm signal yes no - yes

Preheat mode no no - 1x - yes

Preheat delta 0 -50°C to + 50°C or -90°F to +90°F

Auto recipe start yes no - yes

Buzzer set 0 0-4

Key beep yes no - yes

Clear error no - yes

Service 4878

device type TDRII STGi, Multi, BSi, STOi, TRC, ACR,
TDRi, TDRAC

auto-correct time no - time

set language englisch englisch - deutsch - francais - neder-

lands - espanol - japanese - danish -
italiano - russian - norsk - polish

Manual Operation no no - yes

error history overview of last 200 errors
save error history

clear error history

correct-factor 4x 1x - 10x
debug rs232 no no - yes
demo mode no no - yes
auto off 60 no or 10 - 240
pin code i read out of the manager pin code
Sensor offset 0°C -5°C - +5°C
delete all programs no no - yes
PID factors P 100 0-100

I 5 0-100

D 100 0-500

iMax 100 10 - 300

Relay actions 80 16 - 160
Energy Volts 230 1-260

Model TDR

Page 24 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



TDR i Programming instructions

-
-

L )
-

o
o
(]

e

fri-jado

Level 1 | Level 2 Level 3 Default Possibilities
1/0 test read the inputs and set the outputs
Ignore errors no no - yes

save HACCP log

save haccp log on usb

save parameters

save parameters on usb

load parameters

load parameters from usb

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 25



SERVICE PROCEDURES

WARNING: Disconnect the electrical power to the machine at the main circuit box.
Place a tag on the circuit box indicating the circuit is being serviced.

ACCESS TO SERVICE PARTS TDR-P (2020)

Top view

Unscrew 4 screws and open the panel from
the electric compartment .

* The same for the panel on the oposite side to

reach the wiring from the light and also to
“unlock” the top panel.

Remove the top panel and the blower panel
on the inside, to reach the blower motor
and the heating element.

Placing of temperature sensors and heating
element are from TDR7/8 and differs from
TDR5

CPU & LCD board and key board
Power & I/O board.

Hi Limit thermostat

Lamp connection

Connector of blower

PT 1000 temperature sensor.

Rotor drive motor

Fuse on board (1A 5x20 slow acting).
Contactors (left = light, right = heating)
10.Mains connection block

11. Capacitors

12.Door switches and rotor switches
13.Blower motor

14.Connections of heating element.
15.lllumination

16.Heating element

17.Turbine

18.PT1000 sensor

19.Senor, hi limit thermostat.

20.Power & I/0O board untill serial number
100097687

CENOUVTARWN =

Inside view (with removed blower panel)

Service Manual Turbo Deli Rotisserie

Torm 9120920 rev. 04/2021




SERVICE PROCEDURES

Power and I/0 board untill serial number 100097687

Acces to the blower motor, heating element
and light cover has to be gained through the
bottom side of the upper unit..

However, for the light cover of the TDR 5,
the top rotisserie has to be removed.

1. Slide out the grease tray.

2. Unscrew 2 screws at the front side and
slide out the grease guard.

3. Unscrew and remove the top plates of the
lower unit.

4. It might be necessary to cut some silicon
sealant.

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 27



® SERVICE PROCEDURES

1. Remove the flatcables and ground wire
from the CPU board on the backside.

2. Remove the bolt, nut and ring on the
top-backside of the operating panel.

3. Pull out the panel and lift, to remove the
panel.

CPU BOARD

Consider to download (on a USB drive) or
write down the cooking programs and the
parameters, before exchanging the CPU
board and display.

1. Remove the operating panel.

2. Unscrew the 4 nuts and remove the CPU
board.

3. If applicable, read the cooking programs
and parameters from the USB drive to the
CPU board.

Note 1: The keypad ribbon cable must be
connected to connector “Touchpanel 1” on
the CPU board.

Note 2: “Touchpanel 2” is the ribbon cable
connection for the rotor switch keypad on
the customer side.

Note 3: For older units with earth wire in
right hand bottom corner. Take care that
the ring terminal doesn’t make contact with
with the solder point (see arrow) .Otherwise
the illumination of the display and keys can
be off.

Page 28 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



SERVICE PROCEDURES

The buzzer on the CPU board cannot be re-
placed, it is soldered to the board.

Put the plug of the new buzzer in the socket
next to the existing broken buzzer (see white
arrow).

Note: buzzer can dangle loosely without any
problem.

KEYPAD

1. Remove the keypad and degrease the
surface of the glass.

2. Glue the new keypad on its place with
the red colored connectors on the bottom
side.

Note 1: For connection of the ribbon cable of
the keypads see previous page.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021 Page 29



s SERVICE PROCEDURES

o
/
[

'? fri-jado
DOOR SWITCH

1. Remove the operation panel and the
right side panel.

2. Unscrew the 2 screws and remove the
switch.

3. Disconnect the wiring.

Reverse the procedure to install.

Note: The contact pin of the switch must run
free through the chassis.

ROTOR SWITCH

1. Remove the right side panel

2. Lift the locking tab with a screwdriver
and remove the back part of the switch.

3. Loosen the 2 screws that secure the front
part and remove this part by twisting it.

4. Disconnect the wiring.

Reverse the procedure to install.

Note: Make sure the back part is clicked-on
on both sides.

Page 30 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



-
-

SERVICE PROCEDURES 535
** fri-jado

REPLACING A LAMP
Unscrew the bolts and remove the protection guard of the Halogen lamp.

Do not touch the glassof the lamp with your hands! Otherwise clean with alcohol

LAMP HOLDER

For units from serial number 100075954.
1. Remove both side panels from the rotisse-
rie.

N

Disconnect the wiring on both sides.

3. Unscrew the bolts and remove the protec-
tion guard of the Halogen lamp.

4. Push the lamp to either side and pull it
down to remove the lamp. (see above)

5. Unscrew the 2 M3 screws and remove the

holders from the inside.

For units untill serial number 100075953.
1. Remove both side panels and the top
panel(s) from the rotisserie.

2. Disconnect the wiring on the terminal
block.

3. Remove the insulation above the light
fixture.

4. Unscrew the bolts and remove the protec-

tion guard of the Halogen lamp.
5. Push the lamp to either side and pull it

down to remove the lamp. (see above).
6. Unscrew the 2 M3 screws and remove the
holder from the inside.

Reverse the procedure to install.

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021

Page 31



s SERVICE PROCEDURES

o
/
™ -

'? fri-jado
BLOWER MOTOR

Dismounting the blower
assembly.

1. Relmove both side panels and the top pa-
ne

Remove the blower panel

Remove the M5 nut and washer from the
motor shaft

Pull the turbine from the shaft. A puller is
delivered with the new blower kit.
Unscrew 3 screws.

Pull off the shaft seal with pressure plate.
Disconnect the blower wiring.

Unscrew 4 nuts.

Take out the motor.

LN A~ WN

Mounting the blower
assembly.

This has to be done in reversed order from
disassembling.

Very important!

e First mount the motor and tighten the 4

nuts thorougly.

Then mount the shaft seal.

Never loosen or tighten, the 4 nuts from

the motor afterwards.

e |f this is necessary, then first loosen the
shaft seal.

e Check the rotation direction.

>
St e

\
e . S5

Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021

Page 32



\
[
[

SERVICE PROCEDURES

e
[ 1}

*.

HEATING ELEMENT

Dismounting the heating element.

1. Relmove both side panels and the top pa-
nel.

2. Note the wiring number and write down if
necessary.

3. Disconnect the wiring. Note! Hold the rear
nut with an open end spanner!

4. Cut loose the insulation and take it out.

5. Unscrew 6 nuts M6.

6. Take out the pressure plate.

7. Remove the blower panel.

8. Unscrew the M4 nuts that secure the hea-
ting element to the ceiling. This is one in a
TDR5 and 3 in a TDR7/8.

9. Remove the graphite gasket from heating
elgment. Also clean the ceiling from re-
sidu’s.

Mounting the heating element.

This has to be done in reversed order from
disassembling.

Very important!

e Take a new gasket.

¢ Do not forget to hold the rear nut with an
open end spanner when connecting the
wiring and tightening the nuts.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021 Page 33



’

SERVICE PROCEDURES

S«
[ 1))

ROTOR DRIVE MOTOR
Dismounting the rotor motor:

Note, #4 and #5 are applicable from serial

number 100075954.

1. Remove the side panel at the operator-
panel side.

2. Mark the position of the motor on the
bracket.

3. Take the rotor shaft out of the cooking
cavity.

4. Unscrew the 5 bolts from the shaft seal
mounting plate.

5. Slide the mounting plate and lip-seal
from the drive arm.

6. Put the drive arm (If applicable)in the
position as shown. This can be done ma-

nually, if necessary, by turning the fan

blade on the motor.
7. Disconnect the wiring of the motor.
8. Unscrew 4 screws and put the air guide
aside.
9. Remove the (cooling) fan blade.
10.Unscrew 4 screws with nuts.
11.Take out the motor as shown.

% i White Brown
S ‘5'@@@ 2 ST
_@%QQ@@ él@l@l@l@é
Oooojogjoo|o|o
SN (][] ] ][] ][] i)
|:||:||:|||:||:||:|||:|-|:||:|E| E .
_ T ; Rotor motor drive heads untill
RNRR a0 ‘serial number 100075953
B0RRNRERE| | EeeeeE
0OQVLO®®b|o

Page 34 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



SERVICE PROCEDURES

3

e

ri-jado

Centering of
shaft in hole

Mounting the rotor motor

1. Mount the motor on the bracket using
the previous made mark (see #2 from
disassembling).

2. The motor shaft should come through
the center of the hole!!

3. Connect the wiring of the (new) motor.
See previous page for position of wires.

In case the wires have receptacles mounted,

then these have to be cut off and the wires

stripped.

Note that the white wire, marked “A” is

longer

4. Hook in the rotor and check the axial
play. This should be 2,5 -3mm (3/32-4/32)

5. Put power on the unit and test the
rotation of the rotor. Interchange the
two white wires if wrong. The air flow
should go up!

2,5 3mm 6. Check if the drive arm in top position
(3/32"-4/32") has the same distance to the side wall as
< > in bottom position.

7. Mount the shaft seal when the position
of the motor is ok and the screws are
mounted tight.

Checking Aligning of
rotation the drive arm
CcCw Q 4 o
o T
=}
L |3 EI—- (T
Y L
I Al N
W || == Tl b (=)
o o CE J
——<

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021 Page 35



o
/
[

s SERVICE PROCEDURES
’

fri-jado
HIGH LIMIT THERMOSTAT

1. Remove the right side panel.

2. Remove the blower panel on the inside
of the oven (this is only to check if the
probe is on the right place).

3. Remove the thermostat probe from the
clip and remove the probe.

4. Remove the screws on the electric panel
that secure the thermostat.

5. Remove the thermostat and disconnect
the wiring.

Reverse the procedure to install.

Note 1: The probe sticks out of the side wall
till the end of the bracket.

Note 2: Set the new high limit thermostat
fully clockwise (see arrow).

Note 3: The versions until serial nr. 100067092
have different brackets. The latest bracket is
the preferred one.

1. Remove the right side panel.

2. Remove the blower panel on the inside
of the oven (this is only to check if the
sensor is on the right place).

3. Disconnect the wiring of the sensor.

4. Unscrew the screw and pull out the sensor

Reverse the procedure to install.

Note 1: The sensor sticks out of the side wall
till the end of the bracket.

s Note 2: The versions until serial nr. 100067092
TDR 5%0ld version ¥ "\N i have different brackets. The latest bracket is
the preferred one.

Page 36 kService Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



SERVICE PROCEDURES

-
-

o
o
(]

e

fri-jado

1. Pull the inside door from the outside

DOOR INSIDE

Y

door.

2. Lift the inside door upward out of the
hinges.

3. Place the new door in the hinges.

4. Close the inside door on the outside door.

Note: Tightening of nuts max. 8 Nm. or
5.9 Ibf.ft

DOOR OUTSIDE

1. Remove the left side panel.

2. Lift the inner door out of the hinges and
lay this aside.

3. Close the outer door.

4. Unscrew the 2 nuts behind the upper
hinge. Keep door closed!

5. Hold the door on both sides and move
this towards yourself, before lifting it out
of the hinge at the bottom side. See to it
that the washers stay on the hinge.

6. Place the top hinge on the new door.

7. Reverse the procedure to install the new
door.

Adjusting the door (if necessary).

1. Loosen the nuts A of the upper hinge. The
door must be closed.

2. Loosen the locknut B and adjust the bolt C
in or out to adjust the door.

3. Tighten the nuts of the hinge and mount
the left-hand panel.

Note: Tightening of nuts max. 8 Nm. or
5.9 Ibf.ft

. | B i |
Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 37



-
-

ELECTRICAL TESTS

o fri-jado

WARNING: Disconnect the electrical power to the machine at the main circuit
box. Place a tag on the circuit box indicating the circuit is being serviced.

MEASURING THE HEATING ELEMENTS
Heating element TDR 5

200-208V (USA) 230V (EUR)

E3 | 1800W 24O 8,6A |1800W 29Q 7,8A

E4 | 1800W 24O 8,6A |1800W 290 7,8A

E5 [ 1800W 24 Q 8,6 1800W 29O 7,8A

Heating element TDR 7 /8

200-208V (USA) 230V (EUR)
E3 |3000W 14,50 3000W 17,50
E4 | 3000W 14,50 3000W 17,50
E5 [3300W 13 Q 3300W 16 Q

TDWY7//8 TDWS5

Heating element TDW

( « TDW 200-208V | 230V

(USA) (EUR)

) 5 |2500W 210 |9.8A 10,9A

( 7/8 1500W 35Q 5,9A 6,5A
Ce>

If heaters have been stored for a longer period, Moist can go in and the insulation resistance can go
down. Therefore it is good to measure this insulation resistance before mounting it.

In case this Insulation resistance is too low, it could be considered to dry the heater in an oven for 24
hours on 130°C (266°F). The longer the better.

Advise:

e Keep stock limited.

e Store in conditioned space (for example in a box with silica gel)

MEASURING THE BLOWERS

Blower of warmer

Brown -
| -
e/ \\ | 315 Q QOQDO
' Blue
el 630 0

Page 38 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



Electrical tests :f’ S ..
*?* fri-jado
Blower of rotisserie
Blue
PH1 208/240V 50/60Hz 1,8A ] I~
5uF 400V Thermally protected White \
, ! /
/ /
Thermistor — |
White /
Red
Black

Insulation test

®

500V !

Checking with Q meter

Charging with a test cable

The 6pF capacitor

General

Even with a capacitance meter it is impossible to
determine for sure if the capacitor is ok or not,
because it can be leaking when it is connected to
mains power.

A quick optical check often tells more. Search for
leaking oil and / or bulges (lumps).

Measuring with an insulation tester in 500V po-
sition.

Work under safe conditions according local legis-
lation!

The value will not reach « Q, but will go up and
down a little. When it is above 50MQ it wil be ok.
Disconnect the test leads while the value is at the
highest position. The capacitor is now charged
with + 500VDC!!

Leave it for a few seconds and then put the wires
together. A loud spark must arise. If not, the ca-
pacitor is leaking (loosing its charge).

It is also possible to charge the capacitor by
shortly con necting it to the mains supply
(208V~). The same spark must arise. Do this a few
times. The capacitor will not

be charged when the leads are disconnected du-
ring the “zero crossing” of the mains sinus. It is
ok when a spark arises once.

Measuring with an Q meter.
Be sure that the capacitor is empty!

The value will go up until « Q is reached.
Exchange the test leads. The value will go down,
through “0” and up again.

If not, the capacitor is broken.

If ok, it is still not sure if the capacitor is ok. It
might leak when it is connected to the mains
power!

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 39



00 Electrical tests
0

fri-jado
MEASURING THE ROTOR (DRIVE) MOTOR

White
240 Q
120 Q C_ )
©
(o) (o)

8
5

®

500V !

MEASURING THE 500W LAMP

230V 500Watt

MEASURING THE PT1000 SENSOR

The oven temperature is controlled by a
PT1000 sensor, mounted in the top at the
side.

See the resistance overview for the PT1000

sensors.
571000 °C_ | PT1000 c_|pT1000 | [°C_ |PT1000
sensor 20 | 115540 | [120 [1460,60
20 |921.60 50 |1194.00| [130 |1498,20
210 | 960,90 60 |1232,40| [140 |1535,80

0 1000,00 70 |1270,00 150 [ 1573,10
10 |1039,00 80 |1308,90 200 | 1758,43
20 |1077,90 90 |1347,00 250 | 1940,81
25 11097,40 100 | 1385,00 300 | 2120,30
30 |1116,70 110 | 1422,00

Page 40 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



TROUBLE SHOOTING I

OVERVIEW OF ERROR CODES TDR-P

See also explana-
tion on next page

Error 11. 1. PT sensor malfunction.(resistance below 1000 Q) Reading < 0°C (32°F)
2. Wiring PT sensor shortened.
3. Environment below freezing point
Error 33. 1. PT sensor malfunction.(resistance higher than 2200 Q) Reading > 315°C
(600°F)
2. Wiring PT sensor loose.
Error 44 Logging of PCB temperature when above 65°C, only during cooking.
Error 55. Heating up takes too much time.

1. Contactor malfunction.

2. P.T. sensor malfunction.

3. Heating elements malfunction.

4. Safety thermostat malfunction.

5. For software older than V.1.03.07: Setting of temperature in cooking pro-
gram is too high. Set temperature on “normal value”. Load latest software.
6. Parameter setting of “temp.grad” is not on value 3.

Error 66.

1. Blower overheated, thermistor in blower opens.

2. Relay K3 malfunction.

3. Parameter “thermistor”is set on “yes”in a model older than serial nr.
100067527. Put parameter on “NO”

Note that putting the parameter “thermistor” on “NO” will disable the error.
The blower motor will however still stop in case of overheating.

Error 77.

Error 88.

The expected heat number is more than 20% lower (error 77) or higher (error
88) than the stored heat number in the cooking program. This error does not
result in a complete shut down of the rotisserie, but is stored in the fault mes-
sages in the service menu.

1. Check heat number in cooking program.

2. Heating element malfunction.

3. Cooking program malfunction. Erase program, create new program, run a
reference batch and run a second batch for verification.

Error 91

Filter(s) in hood not in place (see “parameter hood check”)

Error 92

Filters in hood polluted (see “parameter hood check”)

Application error.

A: No standard
screen when swit-
ching on.

B: APP. error on
screen.

Parameter file cannot be openend when switching the TDR on
Failure during loading of parameters or programs.

Communication failure keypad and CPU.

A1. Make a complete reset by pulling out the plug for 1 sec.
A2. CPU board malfunction.

B1. Memory stick failure.
B2. For communication failure load latest software version (solved in V1.03.08
or higher).

No Application

found

The CPU board has no, or corrupt software.

Upload the latest version. (can be found on frijado.com)

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 41



s
rLd
[

® TROUBLE SHOOTING
’

fri-jado
ERROR 55 EXPLANATION

1.5

9e(“°(¥;\
_| Temp. increase "\(\96
. \S)
°C/ 2 minutes e5
Ol
@
il
— 7
1.0 o
se"{\“g
- 5
|l‘_ez‘(\Q
e e
o5 +— — — — — — \\\\\‘“
&‘(\'\5\\0
_ 0e° |
5
?‘((0( |
! ' —> minutes
2 4

Note: 1. Measuring starts 5 minutes after beginning of a heating step.
2. Duration is 5 periods of 2 minutes.
3. Measuring stops at 150°C/302°F or when temp. in cabinet is < 30°C than the set

temperature.
Necessary line currents:
TDR8 with neutral 3x 16A. Without neutral 3x 27A.
TDR5 with neutral 3x 8,5A. Without neutral 3x 14A.
Possible cause Caused by Explanation Solution
Energy supply Broken contactor One or more contacts broken, [Replace contactor
problem no current

Broken coil, contactor does not
kick in

Replace contactor

Missing phase

No current in one or two pha-
ses

Check mains connecti-
ons and customer fuses

Broken heating ele-
ment

No current to one or more
heating elements

Replace heating ele-
ment

Short circuit in heating ele-
ment

Replace heating ele-
ment

Low supply Voltage

Low voltage results in low
current

Check line voltage and
currents.

Hi-limit thermostat

Not adjusted to it's maximum

Fully turn clock-wise
(cw)

Broken thermostat.

Replace thermostat

Broken temperature
sensor

Sensor gives a wrong value

Replace sensor

Wrong setting of
“temp grad” parame-
ter

Default setting is 3, --> 0.5°
per 2 minutes

Check setting

Too much energy
absorption

Products are stuffed
with a very humid sub-
stance

Put “temp grad”set-
tingon 2or 1.

Page 42

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021




\
[
[

TROUBLE SHOOTING

> -
[ 1}

ri-jado

TROUBLE SHOOTING BY SYMPTOM.

Symptom

Mo-
del

Possible causes

No power to oven controls.

. Main breaker open.

. Fuse burned (F1).

. Fuse power and I/0 board burned (F3).
. Electronic control inoperative.

. Wiring or flatcable loose/broken.

Main fuse or breaker blows.

. Wiring incorrectly.
. Heating element, drive motor, blower or contactor shor-

]
o

. Wiring shorted.

Rotor drive motor does not run
during cooking cycle.

P/l

. Main fuse on L1 inoperative.

. Capacitor malfunction.

. Motor malfunction.

. Main switch malfunction.

. Rotor switch malfunction.

. Door switch malfunction.

. Timer malfunction.

. Wiring loose.

. Power and I/0 board malfunction. Also check relay X12.

OLWOoONOUITD, WN=_2Wett NN =TS WN =

Rotor drive motor stops and
runs again after a certain pe-
riod.

Thermal protection activated (105°C/ 220°F). This shuts off
after the temperature is below 105°C/ 220°F.

Rotor drive motor does not stop

1. Short circuit on rotor switch
2. Rotor switch pushed in. (unit is placed with the back to
the wall.

Blower motor does not run.

P/l

1. Capacitor malfunction.

2. Motor inoperative.

3. Power and I/0 board malfunction. Also check relay X6.
4. Wiring loose.

Blower motor stops and runs
again  after a certain period.

1. Thermal protection activated (140°C). This shuts off after
the temperature is below 140°C.

Oven temperature differs from
temperature setting.

P/1
P/1

. Incorrect line voltage.

. (safety) thermostat malfunction.

. Blower motor inoperative (turning direction?).
. Thermostat malfunction.

. Electronic control inoperative.

. PT 1000 sensor malfunction.

. Sensor (probe) not in right place.

. Dirty fanguard or fanblade.

All heating elements out, both
halogen lamps and blower ope-
rate while oven cavity is below
set temperature.

P/1

. (safety) thermostat malfunction.

. Contactor inoperative.

. Thermostat malfunction.

. Power and I/0 board malfunction.
. Wiring loose.

uphphwWN=ONOOUTS, WN =

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 43



-

TROUBLE SHOOTING

o fri-jado

Symptom Mo- |Possible causes

del
Oven temperature does not 1. (safety) thermostat malfunction.
reach desired temperature. . Contactor inoperative.

P/l . PT 1000 sensor malfunction.

. Sensor (probe) not in right place.
M . Thermostat malfunction
P/l . Electronic control inoperative.

. Heater(s) inoperative.
. Incorrect line voltage.

Infrared Halogen lamp(s) do
not work.

. Contactor inoperative.
. Lamp(s) broken.

. Lamp holder broken.

. Wiring loose.

Infrared Halogen lamps do not
shut off.

= |IhAWN=ONOOULIDWN

. Contactor inoperative.

\AAA

P/I models only ¥VV¥

No display and/or keypad does
not function.

1. Main breaker open.

2. Remove plug out of socket and connect plug again (reset
of key sensitivity).

3. Loose flat cable from CPU/display to power and 1/O
board.

4. Fuse (125 mA) on power and I/0O board burned.

5. Power and I/0 board malfunction.

6. Loose flatcable from CPU/display to keypad.

7. CPU board malfunction.

8. Door switch malfunction.

9. Keypad malfunction. Check also the adhesive of the key-
pad.

10. Earth wire on CPU board makes contact with the solder
point on the board (see CPU board page 28).

All beep functions do not func-
tion anymore.

1. Obsolete software (older than V1.03.06). Load latest
sofware.

If no software is available unplug the unit for 5 seconds
and plug in again. Now the beep signal will work again for
49 days.

2. All sounds in parameter list are disabled (switched off).

Blue LED light On/Off key is
fading in and out. Keypad does
not function.

1. Flatcable from keypad on the
operation panel is connected

incorrectly. Must be connec-
ted to “Touchpanel 1" connector

of CPU board (see CPU board page 28).

Programs are not saved. Only
program 0 is available.

1. Bug in program mode. Only way to bypass is to load mi-
nimum one program with a memory stick.
2. Need to load latest software.

Infrared Halogen lamp(s) do
not work.

. Contactor inoperative.
. Lamp(s) broken.

. Lamp holder broken.

. Wiring loose.

Infrared Halogen lamps do not
shut off.

. Contactor inoperative.
. Power and I/0 board malfunction. Also check relay X11.

N =1~ WN =

Page 44

Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021




TROUBLE SHOOTING

D -
[ 1}
\
o'
/

TROUBLE SHOOTING BY PART / FUNCTION.

Descrip- Symptoms Possible cause Action

tion of part/

function

Inside door Broken glass Slamming of door. Give instruction to operator.

Fastening bolts and nuts
are loose.

No PTFE ring between
steel and glass.

Tighten all fastenings.

Mount new glass with PTFE rings between
glass and steel.

Outside door

Broken glass

Door adjustment

Slamming of door.

Fastening bolts and nuts
are loose.

No PTFE ring between
steel and glass.

Door not well adjusted
and closes against bottom
side.

Give instruction to operator.
Tighten all fastenings.

Mount new glass with PTFE rings between
glass and steel.

Adjust door on hinge and tighten the hinge
plate.

blower don’t
work

Heating ele- Rotisserie doesn’t | Wiring. Check the wiring.
ment reach adjusted Check the power on the element.
temperature . .
Element malfunction. Check the current with AC current tester. See
table on page 52.
Duration of gril- | Wiring. Check the wiring.
ling time is too Element malfunction. Check the current with AC current tester. See
long table on page 52.
Safety ther- Contactor does Wiring. Check the wiring.
mostat not come in after |Thermostat malfunction. |Check if the thermostat is making contact.
starting of pro-
gram
Contactor swit- [Thermostat malfunction. [Check if the thermostat is turned fully
ches off before clockwise (contact closed).
reaching the ad-
justed tempera- |Thermostat probe notin |Check the position of the thermostat probe.
ture in program  |right position.
Contactor Contactor Wiring. Check the wiring.
doesn’t come in | coj| malfunction. Check resistance of the coil. This should be
525Q.
Contactor comes | Contact burned. Check the wiring.
in, but Check the power on al contacts.
one or more Check the contacts of the contactor.
functions don't ec contacts contactor.
come in
Capacitor Drive motor or Wiring. Check the wiring.

Capacitor malfunction.

Check function after connecting a new capa-
citor.

Checking of capacitor:

Discharge capacitor with screwdriver. Set me-
ter on MQ and connect the pins of the meter
on contacts, value runs up. Change the pins
on contacts, value runs up again. This means
the capacitor is OK.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 45



-

o=
C X J

o fri-jado

TROUBLE SHOOTING

Descrip-
tion of part/
function

Symptoms

Possible cause

Action

Drive motor

Motor doesn’t
run

and/or
main fuse burned

Motor runs after
starting it up by
hand

Motor stops du-
ring process and
comes in again
after a period of
time

Main fuse burned

Wiring.

Coil malfunction.

Reduction gearbox.
Capacitor malfunction.

Coil overheated, thermis-
tor switches off (105°C
- 221°F).

Short circuit in coil to
earth.

Check the wiring.
Check the power to the motor.

Check insulation value of coil with Megger
on 500V. Minimum value is 0.5 MQ.

Check resistance of the coils. See chapter
Electrical tests. Between whiteA and white
wire 234Q.

Between whiteA and brown wire 117Q.
Between white and brown wire 117Q.
Check if reduction gearbox is blocked.

Check capacitor (see capacitor) or connect
new capacitor.

Check rotation direction. Air should be flo-
wing upwards over the motor.

Check cooling circuit of motor.

Check if rotisserie is close to another heat
source.

Measure temperature motor during process.

Check insulation value of coil with Megger
on 500V. Minimum value is 0.5 MQ.

Blower

Note: Until
serial number
100062182

this blower

is executed
with a 8 uF
capacitor due
to the mini-
mum RPM. The
blower in the
rotisseries after
100062182
have adapted
coils and 6 uF
capacitor. The
RPM now are
minimum 2500.

Blower doesn't
run

and/or
Main fuse burned

Blower runs after
starting it up by
hand

Blower stops du-
ring process and
comes in again
after a period of
time
Temperature
indication on
display runs up
very fast (180°C
- 355°F after 5
minutes)

Wiring.

Coil malfunction.

Capacitor malfunction.

Coil overheated, thermis-
tor switches off (140°C
— 284°F).

Blower doesn’t turn and

heat stays in top of cavity.

Check the wiring.
Check the power on the blower.

Check insulation value of coil with a Megger
on 500V. Minimum value is 0.5 MQ.

Check resistance of the coils.

See chapter Electrical tests.

Between black and red wire 650.

Between black and blue wire 350Q.

Between red and blue wire 300Q.

Check capacitor (see capacitor) or connect
new capacitor.

Check cooling circuit of blower.

Check if rotisserie is close to another heat
source.

Measure temperature blower during process.

Check the wiring.
Check the power on the blower.

Blower of war-
mer

(150°C - 302°F)

Check the wiring.

Check the power on the blower.

Check insulation value of coil with a Megger
on 500V. Minimum value is 0.5 MQ.

Check resistance of the coils. See also table
on page 50.

Between blue and brown wire= 3100Q
Between blue and black wire= 320Q
Between brown and black wire= 6300

Page 46

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021




\
[
[

TROUBLE SHOOTING 0%
** fri-jado
Descrip- Symptoms Possible cause Action
tion of part/
function
Y¥¥Y¥ M models only ¥V¥VYV
Main switch No power to all, | Wiring. Check the wiring on the switch.
or some oven Malfunction of the cams | Check the cams.
controls. on the switch.
Switch comes in, | Contacts burned. Check the wiring.
but one or more Check the power on all contacts.
functions from Check th fth tch
the switch don't eck the contacts of the switch.
work.
Thermostat Contactor Wiring. Check the wiring.
doesn’t come in | Thermostat malfunction. | Check if the thermostat is making contact.
after starting of
program
Contactor swit- [ Thermostat malfunction. [ Check if the thermostat is turned fully
ches off before clockwise (contact closed).
reaching the ad-
justed tempera- | Thermostat probe not in | Check the position of the thermostat probe.
ture in program | right position.
Timer No functions Wiring Check the wiring on the timer.

of the oven are
working.

Grilling proces
is working, but
doesn’t stop.

Malfunction of the timer.
Malfunction of the timer.

Check the power on the timer.
Check function after connecting a new timer.

Check if the time is running down on the
timer (does it tick).

Check if the timer is switching off after rea-
ching the zero position.

Rotor switch

Drive motor

Wiring.

Check the wiring.

doesn’t run. Check the power on the switch.
Back part of switch not Check if back part is clicked-on on both
clicked-on. sides.
Malfunction of the Check function after connecting a new
switch. switch.
YYV¥V¥ P/I models only ¥VVV

PT-sensor

Temperature indi-
cation on display
of 317°C/ 603°F
Temperature indi-
cation on display
does not go up
Rotisserie does
not reach adjus-
ted temperature

Temperature indi-
cation on display
runs up too fast

No connection between
wires.

Full contact between
wires of sensor.

Short circuit in sensor.
Malfunction sensor.

Sensor not in right posi-
tion.
Malfunction Sensor

Check the wiring.
Check thin wire on sensor.

Check the wiring.

Measure resistance of sensor. This is zero.
Measure resistance of sensor with a thermo-
meter probe next to the sensor. See table in
this manual.

Check position of sensor

Measure resistance of sensor. See table on
page 53.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 47




49" TROUBLE SHOOTING
** fri-jado

Descrip- Symptoms Possible cause Action

tion of part/

function

Keypad(s) do No possibility to  |One or more keys don’t Check functions of keypad(s), see

not react make a program |function. “function”parameter in service menu.

Check flat cable connection between CPU
board and keypad.

Check if keypad is correctly glued to the
glass.

No responce on all keys.

Remove plug from socket and connect again
(reset of key sensitivity)

Check if keypad is correctly glued to the
glass.

Keypad(s) react
strange / auto-
matic

Automatic stop-

ping of program.

Moist on / or running over
the keypad

1. Check for condensation. When the unit
is cold and the environment is heating up,
condensation can be expected.

2. Check for water, dripping on the top of
the unit and running down.

Display/CPU on
operation pa-
nel and power
I/0 board

No illumination
on display

Display shows
strange things.

Wiring.

Fuse burned.

Flat cable.

Display/CPU malfunction.
Power board malfunction.

Parameters not on right
settings.

Wrong software or loss of
data.

Check the wiring.

Check the power on the CPU board by the 2
flashing red LED's just near the flatcable on
the power and I/0 board.

Check the 125 mA fuse on the power I/O
board.

Check the fuses.
Check grey flat cable connection.

Check functions after connecting a new grey
flat cable.

Check functions after installing a new CPU
board with display.

Check functions after installing a new power
I/0 board.

Check parameters.

Check software version or upload latest
software.

Page 48

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021




TROUBLE SHOOTING

> -
[ 1}

TROUBLE SHOOTING THE TDW WARMER

[

[ 1]
o'

Symptom

Possible causes

No power to warmer controls.

. Main breaker open.
. Switch malfunction.
. Wiring loose.

Main fuse or breaker blows.

WN=]WN =

. Wiring incorrectly.
. Heating element or blower shorted.
. Wiring shorted.

Blower motor does not run.

. Capacitor malfunction.
. Wiring loose.
. Motor inoperative.

Lamps do not operate.

WN=TWN =

. Lamp malfunction.
. Switch malfunction.
. Wiring loose.

Oven temperature does not reach desired
temperature.

NouhWwWN =

. Incorrect line voltage.

. Heater(s) inoperative.

. Thermometer malfunction.

. Thermostat malfunction.

. Thermostat probe not in right place.

. Blower motor inoperative (turning direction?)
. Dirty fanguard or fanblade.

Products dry out too fast.

-_

. No water in tray.

No indication on the display.

N —

. Battery of display empty.
. Display malfunction.

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021

Page 49



EXPLODED VIEWS AND PARTSLISTS

TDRP, ELECTRICAL PARTS

2
N

o [m][m]m | [m][m] |\
[1m )
1 )\O

22 23 81 83 24 8‘4 é5 §7

N i

Page 50 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



EXPLODED VIEWS AND PARTSLISTS

-
-

L )
-

o
o
(]

e

fri-jado

TDRP, PARTS LIST ELECTRICAL PARTS

Pos | Part number | Description Qty Pos | Part number | Description Qty
1 9290344s | Electric panel, ass. 66 [ 9298522 Panel, customer side, ass. + keypad,
2 |9292040s | CPU board + LCD TORS
3 9292041 Keypad + short flatcable 67 9298523 _(l}gr&tgol panel, ass. + 2 keypads,
4 | 9192400s | Power & /O board 68 |9298561 | Blind panel, right side, TDR5
5 9172314 Ribbon cable L= 1500 mm, 14 pins 69 9298525 Panel, customer side, ass. + 2 key-
6 9292081 Ribbon cable 10p 85 mm. pads, TDR5
7 9292044 Ribbon cable 10p 1100 mm. 70 19298530 Control panel, ass. + keypad, TDR7/8
8 9293001s Gearmotor, complete with drive head, 71 9298534 Panel, left side, TDR7/8
TDRS 72 9298532 Panel, customer side, ass. + keypad,
9 9293002s Gearmotor, complete with drive head, TDRY7/8
TDR7/8 73 9298533 Control panel, ass. + 2 keypads,
10 | 3701233s | Door switch TDR7/8
12 [9291001s | Infrared Halogen lamp 500W 74 19298536 Blind panel, right side, TDR7/8
13 9052826 Lamp holder 75 19298535 Panel, customer side, ass. + 2 key-
14 9291122 | Connector, 2 pole pads, TDR7/8
15 | 3500031 | fan, cooling 77 |9191222 | End clamp
16 | 92920295 | Heating element 208 V, 5.4 KW, ass, 78 | 9191351 | End cover
17 [ 92920285 [ Heating element 208 V, 9.3 KW 79 9191232 | Terminal, 2 pole 47 Grey
18 | 9040970 | Safety thermostat 80 |9191223 | Endcap, terminal
19 3500069 Contactor 81 9191240 Terminal, 4 pole 42 Grey
20 | 9298550s | Blower, ass. TDRS 82 19191238 Plug-in bridge FBS 2-6 PHX
1 9298551 Blower, ass. TDR7/8 83 9191218 Fuse holder Phoenix
22 | 3701228 | Capacitor 25 uF 84 9191347 | End cover
23 9192034 Capacitor 6 uF 85 9191349 Terminal, 3 pole 6% Grey
24 19191197 Fuse 10A, ceramic 32x6,3 86 | 919135 Plug-in bridge FBS 2-8 PHX
25 9172362 Buz;er 12V, separate connection for 87 9191348 Terminal, 3 pole 6 Green
service
26 9172310 Temperature sensor PT 1000
27 0601466 Crimp contact male, M-N-L
28 9291014 Socket, 5p, Mate-N-Lock
29 3701272 Plug, 5p, Mate-N-Lock
30 0601458 Crimp contact female, M-N-L
35 (9291012 USB cable
36 9291010 Cover USB adapte
37 9291011 USB adapter
41 9172404 Connecting cable with plug15-30P
42 9172425 Connecting cable with plug 15-50P
50 9294075s | Bracket temperature sensors, TDR5p
51 9294069s | Bracket temperature sensors, TDR7/8
52 9110072 Clip
53 [ 9293095 Seal, silicon @10 x g4 L=45
54 9293096 Seal, silicon @12 x @3 L=45
64 9298520 Control panel, ass. + keypad, TDR5
65 |[9298524 Panel, left side, TDR5

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 51




EXPLODED VIEWS AND PARTSLISTS

TDR-P/I CONNECTORS AND WIRING

A=
L N s
O 92

o AR
[l
@éﬁmiﬂij

27

— =\ 91 "

,}.- _ /, 1050 mm (411/4)
%ﬁﬁﬁ /7

=

N 46

]

3

_ <--3 //
/ /

: <2 ., 450 mm (17 3/4")
7"'. <--1 7//

<--2 r

—5 42

/
Gas //

25 /

47 / .

: 7 =
/ I

29

T~

30

1
L]

=g

==

|/

Page 52

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



o ™o

EXPLODED VIEWS AND PARTSLISTS 0%
** fri-jado
TDR-P/I PARTS LIST CONNECTORS AND WIRING
Pos | Part number | Description Qty Pos | Part number | Description Qty

88 19293021 Conversion cable 3 to 5-pole
89 9290858 Wire repair set TDRp J2
90 9290859 Wire repair set TDRp J6
91 9310850s | Wire repair set inputs

92 9310816s | Connection set TDR hood
93 9291176 Crimp contact, inputs

94 9291175 Socket, 2 p, inputs

95 9291177 Socket, 3 p, inputs

96 3701231 Crimp contact, outputs

97 9291170 Plug, 5p, power

98 9291173 Plug, 6p, outputs

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 53



35“‘_ . EXPLODED VIEWS AND PARTSLISTS

T

“,
5

/(-4 /-

20\(TDR5) 21 (TDR7/8)

% N
35 I 101

Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021

Page 54



EXPLODED VIEWS AND PARTSLISTS

TDR-P/I, PARTS LIST ELECTRICAL PARTS UNTILL SERIAL NUMBER 100097687

Pos | Part number | Description Qty Pos | Part number | Description Qty
2 9292040s | CPU board + LCD 64 [ 9298520 Control panel, ass. + keypad, TDR5
3 9292041 Keypad + short flatcable 65 9298524 Panel, left side, TDR5
5 9172314 Ribbon cable L= 1500 mm, 14 pins 66 9298522 Panel, customer side, ass. + keypad,
6 |9202081 | Ribbon cable 10p 85 mm. TOR5
7 | 9202044 | Ribbon cable 10p 1100 mm. o7 | 9298523 | Convol panel, ass. + 2 keypads,
8 9293001s _IC_%SaRrSmotor, complete with drive head, 68 9298561 Blind panel, right side, TDR5
9 9293002s Gearmotor, complete with drive head, 69 9298525 E:g;l,T%Jlgtsomer side, ass. + 2 key-
10 37012335 ;2;73“ oh 70 9298530 Control panel, ass. + keypad, TDR7/8
12 |9291001s | Infrared Halogen lamp 500W 719298534 | Panel left side, TDRY/8
13 9052826 Lamp holder 72 9298532 '?Srl%l/ é:ustomer side, ass. + keypad,
14 9291122 Connector, 2 pole 73 9298533 Control panel, ass. + 2 keypads,
15 3500031 fan, cooling TDR7/8
16 9292029s | Heating element 208 V, 5.4 KW, ass. 74 9298536 Blind panel, right side, TDR7/8
17 [9292028s | Heating element 208 V, 9.3 KW 75 19298535 Panel, customer side, ass. + 2 key-
18 | 9040970 | Safety thermostat pads, TDR7/8
19 | 3500069 | Contactor 77| 9191222 | End clamp
20 92985505 Blower, ass. TDR5 79 9191232 Terminal, 2 pole 4? Grey
21 | 9298551 | Blower, ass. TDR7/8 80 |9191223 | Endcap, terminal
2 3701228 Capacitor 2.5 uF 81 9191240 Terminal, 4 pole 4* Grey
221 | 9077102 | Capacitor 3 uF (il serial rr. 100 | 9192202 | Power & l/O board
100061450) 101 [ 9290215 Electric panel, ass.
23 19192034 Capacitor 6 uF 102 [ 9298539s | Control panel TDR7/8i (right control-
231 | 9291015 | Capacitor 8 uF (il serial rr. led)
100062182) 103 | 9294055s | Blind panel, SS, for rotor button
23,2 | 3701274 Capacitor 5 uF (till serial nr. 104 [ 9291003 Contact block, rotor switch
100060887) 105 9291002 | Knob, rotor switch
25 |9172362 | Buzzer 12V, separate connection for 106 | 9298540s | Control panel TDR7/8i stacked (right
controlled)
26 9172310 Temperature sensor PT 1000 107 | 9044205 Fuse holder
27 0601466 Crimp contact male, M-N-L 108 | 9110250 Fuse SC10. 10A
28 9291014 Socket, 5p, Mate-N-Lock 109 | Fuse holder plate
29 3701272 | Plug, 5p, Mate-N-Lock 111 | 9044564 | Connecting block, 1,2,3
30 0601458 Crimp contact female, M-N-L 12 | 9044572 Connecting block, 4,5,6
31 2300121 Terminal block, ceramic 13 | 9191237 Connecting bridge, 3p
35 |9291012 | USB cable 114 9191241 | Terminal, 4 pole 42 Blue
36 9291010 Cover USB adapte 15 | 9077088 Rail
37 9291011 | USB adapter 116 | 9291141 | Socket, relay
17 19291140 Relay
41 9172404 Connecting cable with plug15-30P 124 | 9070840 Grommet
42 9172425 Connecting cable with plug 15-50P 130 | 9172280 Spacer M4, L= 83,5mm (till ser.r.
50 9294075s | Bracket temperature sensors, TDR5p 100060436)
51 9294069s | Bracket temperature sensors, TDR7/8 131 19294063 Bracket temperature sensors. (Untill
52 9110072 Clip serial nr. 100060436)
53 9293095 Seal, silicon @10 x g4 L=45
54 [ 9293096 Seal, silicon @12 x @3 L=45

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 55



EXPLODED VIEWS AND PARTSLISTS

ri-jado

.of

e
Se

TDRM, ELECTRICAL PARTS

20 (TDR5)

172—

176

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 56



EXPLODED VIEWS AND PARTSLISTS

o™q
P
) L )
o

e

fri-jado

TDRM, PARTS LIST ELECTRICAL PARTS

Pos | Part number | Description Qty Pos | Part number | Description Qty
8 9293001s | Gearmotor, complete with drive head, 157 19171140 Main switch
TDRS _ 165 | 8033659 | Connecting block
9 92930025 %aRr%)tor, complete with drive head, 167 | 9294064 Bracket temperature sensors
10 3701233s | Door switch 168 | 9294063 Bracket temperature sensors
12 |9291001s | Infrared Halogen lamp 500W 170 |9294129 | Control panel, TDRSm
13 9052826 Lamp holder 171 9294130 Panel, customer side, TDR5m
14 9291122 Connector, 2 pole 172 19294131 Control panel (lower unit), TDR5m
15 3500031 fan, cooling 173 [ 9294132 ?gr%h::ustomer side (lower unit),
16 9292029s | Heating element 208 V, 5.4 KW, ass. 175 | 9294053 Control panel, TOR7/8m
17 ]9292028s | Heating element 208 V, 9.3 KW 176 | 9294054 | Control panel (lower unit), TDR7/8m
18 19040970 | Safety thermostat 177 | 9294056 | Panel, customer side (lower unit),
18 9040970 Safety thermostat TDR7/8m
19 3500069 Contactor
20 9298550s | Blower, ass. TDR5
21 9298551s | Blower, ass. TDR7/8
22 3701228 Capacitor 2.5 uF
22,1 9077102 Capacitor 3 uF (till serial nr.
100061450)
23 9192034 Capacitor 6 uF
23,1 19291015 Capacitor 8 uF (till serial nr.
100062182)
23,2 | 3701274 Capacitor 5 uF (till serial nr.
100060887)
27 0601466 Crimp contact male, M-N-L
28 9291014 Socket, 5p, Mate-N-Lock
29 | 3701272 Plug, 5p, Mate-N-Lock
30 0601458 Crimp contact female, M-N-L
31 2300121 Terminal block, ceramic
52 19110072 Clip
54 9293096 Seal, silicon @12 x @3 L=45
103 | 9294055s Blind panel, SS, for rotor button
104 19291003 Contact block, rotor switch
105 19291002 Knob, rotor switch
107 | 9044205 Fuse holder
108 (9110250 Fuse SC10, 10A
109 | .. Fuse holder plate
111 | 9044564 Connecting block, 1,2,3
112 | 9044572 Connecting block, 4,5,6
115 [ 9077088 Rail
124 [ 9070840 Grommet
151 [ 9290215 Electric panel, ass.
152 19298508 Temperature knob, ass.
153 [ 9070531 Thermostat
154 1 9298506 Timer knob, ass.
155 | 9040463 Timer switch
156 | 9298507 Main switch knob, ass.

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 57



\
[J
[

EXPLODED VIEWS AND PARTSLISTS

[ 1))

)

LA

ri-jado
TDR DOORS

95
: = oM

. os6
824
224
225
220
Sﬁz
956 221

95

8i§§§§3
B
* 222
223
224
P 225

221

A\
Page 58 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



o ™o

EXPLODED VIEWS AND PARTSLISTS :f" ..
*?* fri-jado
TDR PARTS LIST DOORS
Pos | Part number | Description Qty Pos | Part number | Description Qty

TDR 5

200 |9298500s Door service side, ass., TDR5m
201 1 9298503s Door customer side, ass., TDR5m
202 19298502s | Door inside, ass., TDR5m

TDR7/8

205 |[9298510s | Door service side, ass., TDR7/8m
206 | 9298513s Door customer side, ass., TDR7/8m
207 19298512s Door inside, ass., TDR7/8m

215 19290410 Hinge, right

216 | 9290409 Hinge, left

217 [ 9172054 Brass bearing 8 mm

218 9172122 Brass bearing 8 mm, adjusted
219 | 3702342 Flange bush, PTFE 3 mm
220 | 3702341 Flange bush, PTFE 2 mm
221 (9070141 Magnet block

222 19294229 Blocking bracket

223 | 2103209 Plug, door handle

224 19298100 Door handle, kit, TDR5
225 19298101 Door handle, kit, TDR7/8
226 [9174154 Adjusting bracket

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 59



\
[J
[

EXPLODED VIEWS AND PARTSLISTS

[ 1))

- @

LAY

ri-jado

TDR ILLUMINATION

Untill serial number 100075953

251 13

From serial number 100075954

252

Page 60 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



o ™o

EXPLODED VIEWS AND PARTSLISTS :f" ..
*?* fri-jado

Pos | Part number | Description Qty Pos | Part number | Description Qty
12 9291001s | Infrared Halogen lamp 500W
13 9052826 Lamp holder
14 9291122 Connector, 2 pole
31 2300121 Terminal block, ceramic
250 [9294463s | Light fixture + end plate L and R
251 19292061 Protection guard, infrared lamp
252 | 9294227 Channel, lamp wiring
853 | 2105045 Screw M3x10
832 | 4288231 Tensilock bolt M5 x 10

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 61



35"‘ EXPLODED VIEWS AND PARTSLISTS

TDR 5 ROTOR

847 848 305

Untill serial number 100075953

306 ./307

g Untill

serial number
-~ 100089663

338 339 /340

Page 62 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



o ™o

EXPLODED VIEWS AND PARTSLISTS :i" . .
*?* fri-jado
TDR 5 PARTS LIST ROTOR

Pos | Part number | Description Qty Pos | Part number | Description Qty
8 9293001s | Gearmotor, complete with drive head,

TDR5
9 9293002s | Gearmotor, complete with drive head,

TDR7/8

22 3701228 Capacitor 2.5 uF

300 | 9146951 Ass. Rotor TDR5

301 19170571 Rotor shaft

302 19174369 Rotor disc 3 mm

305 | 9172062 Bearing 12mm, rotor TDR5
306 [ 9073131 Seal ring, Teflon

307 19110797 Seal, silicon

308 | 9290444 Support plate, rotor motor

309 19172078 Fanblade @ 150 mm, rotor motor

310 | 9172112 3 Chicken rack

311 19010387 Meat basket

312 19010549 Meat fork

313 | 9112472 V-spit

320 | 9294419 Air guide, fan rotor motor TDR5

330 | 9172274 Rotorset ass. 8 meat forks, stainless

steel

331 19070272 Rotor shaft

332 | 9174623 Rotor disc 3 mm

333 9172169 Support pin

336 | 9172063s | Bearing ass., rotor TDR7/8

337 19292245 Seal

338 19314126 Pressure ring, 5 holes

339 19312002 Shaft seal, 5 holes

340 [ 9314125 Reinforcement ring, 5 holes

341 19294421 Air guide, fan rotor motor TDR7/8
344 | 9294649 Pressure ring, 6 holes

345 | 9292244 Shaft seal, 6 holes

346 | 9294650 Reinforcement ring, 6 holes

350 | 9172136 4 Chicken rack

351 | 9172134 Meat basket, SS
351,119172213 Meat basket, SS, coated

351,2 | 9172214 Meat basket, SS, coated, set of 7
352 | 9172153 Meat fork

353 [ 9112480 V-spit

354 19312090 Butterfly, 3 chicken rack

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 63




35"‘ . EXPLODED VIEWS AND PARTSLISTS

Page 64 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



o ™o

EXPLODED VIEWS AND PARTSLISTS :i" ..
*?* fri-jado
Pos | Part number | Description Qty Pos | Part number | Description Qty
16 9292029s | Heating element 208 V, 5.4 KW, ass.
17 9292028s Heating element 208 V, 9.3 KW
20 9298550s | Blower, ass. TDR5
21 9298551s | Blower, ass. TDR7/8
23 9192034 Capacitor 6 uF
400 ]9293020s | Blower motor, with conversion cable
3to 5 pole
401 | 3702325 Seal, blower shaft, PSS
402 9294007 Pressure plate
403 ]9293004 Spacer @12x@6,2 H=17mm
404 19294083 Spacer @15x26,2 H=3mm
405 | 9298600 Puller
406 | 9194489 Gasket, heating element
407 | 9194501 Pressure plate
410 | 3701218 Turbine @ 200 mm x 43
421 19290475s | Blower panel
430 | 3701273 Turbine @ 200 mm x 61
432 | 9290411s Blower panel
804 [ 4285092 Nut M6
805 |4288232 Screw M5x12, SS cross recess, wide
button head
822 (0142315 Nut M5 SS
825 0142103 Washer M5
937 12800082 Wing nut M6, brass nickel plated

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 65



\
[J
[

EXPLODED VIEWS AND PARTSLISTS

[ 1))

)

LA

ri-jado

TDR 5 SHEET METAL

505

Page 66 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



EXPLODED VIEWS AND PARTSLISTS

TDR 5 PARTS LIST SHEET METAL

Pos Part number | Description Qty Pos Part number | Description Qty
226 9174154 Adjusting bracket 529 9171015 Grommet, plastic
308 9290444 Support plate, rotor motor 805 4288232 Screw M5x12, SS cross recess, wide
502 | 9171125 | Leg, rubber 50 mm button head
503 9294353 Side panel, left 890 9172053 Nut M5, for sheet metal
503,1 |9294126 Side panel, left (till serial nr.
100061480)
504 9294352 Side panel, right
504,1 9294125 Side panel, right (till serial nr.
100061480)
505 9294160 Top cover
506 9294350 Top plate
506,1 | 9294127 Top plate (till serial nr. 100061480)
507 9294351 Cover, removeable
507,1 9294128 Cover, removeable (till serial nr.
100061480)
508 9290450 Suspension plate, blower
509 9290476s | Drawer
509,1 |9290456s | Drawer (till serial nr. 100061480)
510 9294366 Grease guard.
511 9171008 Drain-tap with handle
512 9294354 Drip plate, SS
512,1 [ 9294116 Drip plate, SS (till serial nr.
100061480)
513 9294356 Side plate, left
513,1 [ 9294110 Side plate, left (till serial nr.
100061480)
514 9294357 Side plate, right
5141 [ 9294112 Side plate, right (till serial nr.
100061480)
516 9294109 Reinforcement, side plate, left
517 9294111 Reinforcement, side plate, right
518 9294360 Cover plate, machine components
518,1 19294119 Cover plate, machine components (till
serial nr. 100061480)
519 9294370 Spark catcher
519,1 19294121 Spark catcher (till serial nr.
100061480)
520 9294361 Mounting plate
520,1 19294120 Mounting plate (till serial nr.
100061480)
521 9294381 Bracket, door switch
521,1 19294065 Bracket, door switch (till serial nr.
100061480)
523 9261022 Strain relief M25
524 9261023 Nut, strain relief M25
526 9172066 Swivel castor with brake
527 9172065 Swivel castor without brake
528 9123492 Indication plate

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 67




o ™o

,3 ® EXPLODED VIEWS AND PARTSLISTS

'? fri-jado
TDR 7/8 SHEET METAL

>sr. nr. 100075953
41/2015

Page 68 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021



EXPLODED VIEWS AND PARTSLISTS

TDR 7/8 PARTS LIST SHEET METAL

Pos | Part number | Description Qty Pos | Part number | Description Qty

226 | 9174154 Adjusting bracket

308 | 9290444 Support plate, rotor motor

502 | 9171125 Leg, rubber 50 mm

510 | 9294366 Grease guard.

511 9171008 Drain-tap with handle

523 [9261022 Strain relief M25

524 19261023 Nut, strain relief M25

526 | 9172066 Swivel castor with brake

527 | 9172065 Swivel castor without brake

529 | 9171015 Grommet, plastic

601 | 9294651 Top panel

602 [ 9292082 seal

603 | 9294180 Side panel, left

604 19294018 Side panel, right

605 | 9294009 Top cover

606 | 9294032 Top plate

607 | 9294045 Cover, electrical compartment

608 | 9290401 Blower suspension

609 |9290405s | Drawer

610 | 9294041 Grease guard.

612 | 9298565 Drip plate, SS, set of 2

612,1 | 9292062 Drip plate, ss coated

613 19294011 Construction profile, left

614 | 9294030 Construction profile, right

616 | 9294028 Reinforcement, side plate, left

617 19294029 Reinforcement, side plate, right

618 | 9294026 Electrical compartment

619 | 9294019 Spark catcher

620 | 9294025 Mounting plate

621 | 9294065 Bracket, door switch

805 | 4288232 Screw M5x12, SS cross recess, wide
button head

890 | 9172053 Nut M5, for sheet metal

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 69




o ™o

0°®
0

fri-jado

EXPLODED VIEWS AND PARTSLISTS

Pos | Part nr | Description Pos | Part nr | Description
800 | 4280107 | Bolt M6x20 ZP 873 | 3701248 | Spacer 7mm, @3,2x6 NP
801 | 4289559 | Lockwasher M6, serrated ZP 874 | 0149296 | Spacer 10mm, @4,2x8 Nylon
802 | 4288321 | Screw M5x16, SS socket button head. 875 | 9057347 | Spacer 10mm, @5,2x10 Nylon
804 | 4285092 | Nut M6, black serrated 876 | 0141165 | Screw M5x25, SS Cross recess pan head
805 | 4288232 | Screw M5x12, SS cross recess, wide button head 877 | 4285135 | Bolt M5x10, ZP thread forming
806 | 4286713 | Bolt M6x16, ZP threadforming 878 | 0137344 | Screw M5x30, SS Cross recess pan head
810 | 4288325 | Screw M5x12, SS socket, wide button head 879 | 4287610 | Screw, ZP selftapping 3,5x13
812 | 9087570 | Nut M5, black serrated 880 | 9008178 | Bolt M5x8, SS
814 | 4289787 | Bolt M6x30 ZP 881 | 0141246 | Bolt M6x12, SS
817 | 4287549 | Washer M8, ZP 882 | 0141117 | Screw M4x45, SS Cross recess pan head
819 | 0196673 | Bolt M8x25, ZP 883 | 0142365 | Locknut M6, ZP
820 | 0141149 | Screw M5x16, SS Cross recess pan head 885 | 4288324 | Screw M4x8, SS Cross recess pan head
822 | 0142315 | Nut M5, SS hexagonal 888 | 6962153 | Washer M6, ZP ¢6x225
824 9191050 | Bolt, SS M5x18 889 | 6802013 [ Rivet nut, M5, ZP
825 | 0142103 | Washer M5, SS 890 | 9172053 | Nut M5, for sheet metal
826 | 4280218 | Screw M5x45, SS Cross recess pan head 891 | 4288058 | Bolt M5x20, ZP
827 | 4280208 | Screw M4x8, SS Cross recess pan head 892 | 0141521 | Nut M6, SS
828 | 4280215 | Screw M5x8, SS Cross recess pan head 893 | 0146987 | Washer M8, SS
829 | 4280558 | Screw M5x16, SS Slotted wide head 894 | 0211520 | Bolt M5x12, SS
830 [ 9192065 | Capnut M4, ZP 895 | 0144359 | Locknut M5, SS
831 | 0142129 | Washer M4, SS 896 | 4285408 | Capnut M5, BNP
832 | 4288231 | Bolt M5x10, SS serrated 897 | 4288320 | Screw M5x50, SS hexagonal
833 | 0142307 [ Nut M4, SS 898 | 9073987 | Washer M8, SS 98x@25
834 | 4311110 | Washer M5, SS ¢5x@15 900 | 9008869 | Bolt M8x50, ZP
835 | 0142111 | Washer M6, SS 902 | 4288319 | Screw 6x20, ZP CR threadforming
836 | 4285035 | Nut M6, Brass 903 | 4289402 | Lockwasher M8, ZP
837 10195910 | Capnut M6, BNP 904 | 3701280 | Lockwasher, starlock for 10mm shaft
838 | 4285076 | Bolt M8x16, ZP 905 | 0141393 | Screw M4x10, SS countersunk
841 | 0147017 | Screw M2,5x16, SS Slotted pan head 906 | 0141084 | Screw M4x10, SS Cross recess pan head
842 | 0142293 [ Nut M2,5, SS hexagonal 907 | 4288327 | Screw M5x25, SS Socket pan head
843 19191130 | starlock washer, 3mm black 908 | 9006930 | Lockwasher M4, countersunk SS serrated
845 | 0141081 909 | 0141092 | Screw M4x12, SS Cross recess pan head
847 | 9070688 | Bolt M8x12, SS 910 | 4287520 | Washer M4, Brass
848 | 9008518 | Lockwasher, M8 SS serrated 911 | 4285020 | Nut M4, Brass
849 | 0142292 | Nut M3 912 | 4280128 | Bolt M4x12, SS
853 | 0141050 | Screw M3x10, SS Cross recess pan head 914 | 0144347 | Locknut M4, ZP
854 | 0141076 | Screw M3x20, SS Cross recess pan head 915 | 8047381 | Washer M6, SS #6x@25
855 | 0141078 | Screw M3x30, SS Cross recess pan head 919 | 6501450 | Circlips, E type for 2?mm shaft
856 | 0141035 | Screw M3x5, SS Cross recess pan head 920 | 0141547 | Nut M8 sS
858 | 0141075 | Screw M3x16, SS Cross recess pan head 922 | 2800086 | Conn et;tion nut M8x24, ZP
859 | 4312810 | Socket set screw M3x6, S 923 | 4285051 | Connection nut M10x30, ZP
861 | 4285751 | starlock washer, 6mm 925 [ 0195596 | Bolt M8x10, ZP Socket head
862 | 9191041 | Circlips, E type for 6mm shaft 926 | 9070793 | Connection nut M6x18, ZP
863 | 4287540 | Screw M4x10, BNP
— - 929 | 0197378 | Washer M12, Zp
864 | 4285319 | Screw 4,8x13, ZP Self drilling and tapping.
866 | 4287620 | Screw 4,2x12, NP self tapping 930 | 9008056 | Nut M12, ZP
868 | 2285078 | Nut 1/2" bsw ZP 931 | 0142056 | Lockwasher M8, SS
871 | 9191049 | Set screw M5x5, black 933 | 9077004 | Socket set screw M4x6, SS
872 | 4285010 | Nut M3, ZP with lockwasher 934 | 9301049 | Cirdlips external 625

Page 70

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



EXPLODED VIEWS AND PARTSLISTS

e

Pos

Part nr

Description

935

4287557

Washer M10

936

9073149

Wingnut M6, SS

937

2800082

Wingnut M6, Brass Nickle plated

939

4312027

Connection nut M5x15, ZP

940

4280540

Screw M5x6, SS countersunk

941

4311215

Screw , socket head M6 x 30

942

0141123

Screw pan head, Philips M5x10, SS

943

149299

Spacer, @8x@4,2, H15, black

944

0139142

Screw hexagon head M6x40, SS

945

4285410

Capnut M12 SS low profile

946

4286728

Set screw M8x40, socket

947

4280239

Screw M12x20, hexagon ZP

948

0197380

Washer M12, SS

949

0142975

950

4285120

Screw M4x20, thread rolling

951

8071043

Nut M4, serrated ZP

952

6962187

953

0197807

Screw M4x30, slotted ZP

954

4285084

Screw 4,8x19, ZP Self drilling and tapping.

955

9008217

Blind rivet 4x8,6

956

9174680

Washer 25,2x@20x2mm

957

4285047

nut M8 hexagon, thin DIN 439B

958

0195783

Screw M10x30 sock button head

959

9191108

Wing nut M6x10 SS

960

0141204

Screw M4x16, Pan head SS

961

0149210

Screw M5x6, Pan head

962

0141539

Screw M5x10, SS countersunk

963

4288233

Screw M8x16, ZP serrated

964

Screw M3x20, SS countersunk

965

4288330

Screw M8x12, SS button head, wide flange

966

4285414

Capnut, M4 ss

967

0149298

Spacer 10mm, @3,4x6 Nylon

968

0149299

Spacer 15mm, @4,2x8 Nylon

969

0251473

Washer M4, ZP ¢4x@16

970

4285043

Nut M5, prevailing torque SS

971

4280555

Screw M6x16, Brass nickel plated

972

6390168

Rivet nut, M6 ss

[ 1}

*.

\
[
[

ri-jado

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 71



ELECTRICAL DIAGRAMS
CIRCUIT DIAGRAM TDR 5P AND 7P (FROM SERIAL NR. 100097688)

7580676

V| Vv
s 34

(€M) d/1gaL weabeig w1

i

s | nogz-NL™ T ' NogT~€ " N0OP~NE _
N80z~ 1 N00C~¢ 1 ) 1
13d| N 0 3d al al 1l e3d N glal ]
580676 lgle o =2 [GToTo[0ToloTd] | [SToloTo [ SIoTd] 1+ [GTo]SToT6[6]S 0081 00EE_NG0EE &3
6L07LLTL paseapy \ . " _ 1A0081_MOOOE_MO00E 3
UIWIPY 3}UeSNG UBA A — N L ! MO08L_MO00E_MOO0E €3
o | TTe I N SRR * ! [GIERGHERESY
_ 'lololololololof ! [ololololololo] 'l lolololololo]of!
U0} WO JU2jear) 0epng U0} U doudp ] 0000 == — = = = = = = R e e R -
e S e P R YN Uondauos Kianag 1) 43 omaulo> Kianjpq 19
Ul ozoctlsz| 10
u_cssoz%o_c_ =
2oe|d ueq T
>_c_uo :L: do] 19
@ I\ @ SLHOM SyaLvaH
o - 9 9
g ¢ Nmmu S 9 mﬂmu
SLHOI Ho104 Y4 SYILV3H voL ﬁe LT 3 25
U U ﬁ & s s N %
D D D (45} @ 9y _|m_ 14 (25 CH) ¥ £}
[ ==
. |000H | €l il u 0¢ 8l
67 AW
1 NOILdD |5 %
..... o v TeD
Na 2 g g
oy
Y/, = =
%) () )
W T . "1 og a Ll s v €
in €' . o
3 v TeDd
¢ Ly /1 7l 9 A woofel |u
NOLLIO D 1| s —-- .
IIIIIIII 1
! ! zamv_s__ﬂm_ﬁ ' houo! 4 n € 4 n
i |
oW ][ e 2 |4010¥ | N — S
! ! ! ! u il £l 41 il
I I 1
| €S
“ “ Vm \MN \HNN I~ \JMN m _—IIIII_
| | n n fi) n n f n
iy 2z =iz I8 I% 5 = =z
,--./.-/L \ \ & I (X 6 8 £ z _
. e 3l F
 —1  — | = €l19y ZL 1oy wa\ \_ 1oy m_mx\ ley-ad N_wx\ == _.|:n_ulu_|
=
NOLLJO < Z I Iz =
<90 1] 1] 1] 1] 1] n m MA
i Eaky)
7 & ,TN H; o VoL Ao
8 L — !
D D ) @) D T — 6 T &)
_
EF 25 58 BF &=
AVdsIa _u g Fog h Ad g
LLAR) oo LR IAR!) 1) N
=T=
L r -=1-F-" Eal i
oo " e oz fofee Tl st FE
| ! O S Rl
i ! R | L3 | Loz
" _ o dzl3 1y
1| Andsia ! N fmlgs Lo S .
! i 3 KINOLINNOL ~ 9114
U _____ o ¥l SX =
= QOOHYaL dW3LN3AO
1amolg  SIHDLIMS 400a NOLLdO

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 72



ELECTRICAL DIAGRAMS

TH Hi limit
THERMOSTAT
MAX320°C
Q ||
- o Heating Elements
ﬂ_ﬂ
18-2
white 181 3|44 54 |s
Prio0 B
r ________ | 19-2 =
g s
3z 203 | T
g IE Flow : «, ,
= 1102 imml o
= |
S jt 204 104 =
= - — O O
S oo 205 o o
10 1
15 1132 =
1 32|13
DOOR SWITCH
53 lM-Z 3 6
i 26| 14 af [ F
= -
X5 Blower
BROWN
i r WHITE
Sl 42 s WHITE/A
(25 124
i
el Teol Tie
= L
@) @)| 3 29 30
W] e[
@@ 01 7019 2
i elelolzoldlel@
O
(€] [wm] [] [ ol &
=] [=] =] O _
B 5
1 o | =
S S
— N vlol~lolal= % % ©
=3 =
NAANNAHAHHE | [ereeme
QOE@BOC@®@EE| | 53 9 1% 37
OO0 Qe
CAPACITOR * OPTION TOP UNIT ONLY
ﬁAPAClTOR Blower motor [T————=———-—
otor motor ]
]
Door switch :48—@
front side ro
315 :47
SF | 16 Lo
FAN PLACED IN
BOTTOM UNIT

OPTION
Rotor switch

lights

Geom.tolerance

Design

REMARK

25.11.2020
08.01.2020

02

Tolprinciple

| Surfacetetment

MATERAL

REV. SIZE
| B |A3

9290809

9290809

"ART.NUVBER

usante Admin

PROECT 3180
Wiring Diagram P

DRAN
Qi

REMARKS
DESCRIPTION

MATERIAL ART. NUMBER

EUR

(CB1 Delivery connection

3N~400V

2B N
[1Ke)

USA

3~230V

1~208V

Door switch
back side

16
32

[ SB

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 73



Socket for spare buzzer

(in case the one on board Key

is broken)

ON / OFF

UNDO

Socket for 14p ribbon LIST

]

cable, from Power&l/O —>-

board

USB socket

= FORWARD

Socket for second key oK

panel BACK

Key panel

ROTOR

Ribbon cable connection between CPU board and Power& 1/0 board.
For data transmission and also the power for the CPU board.

Mark 24V
12v Schematic overview
RXA 1]

2

RXB 3

TXA -

Fe

TXB i

i
ND ?0
24V 11
gt

| 12V

O 18
r 14

CPU board Power&l/O board

Access to the function test of the Power&l/O board.
This is an important diagnostic tool for testing the inputs and outputs.

5 sec. Choose figure and confirm (4x) Choose “Function” and confirm
b || ( > - b ||| > -
N

Pin O ... Servicemenu

» USB | Function |Para

Enter your service code

Now choose an input or output and confirm to test.
Go to the chapter “Programming instructions TDRp” for more information.

Page 74 Service Manual Turbo Deli Rotisserie.  form 9120929 rev. 04/2021




ELECTRICAL DIAGRAMS

OVERVIEW OF POWER & I/0 BOARD (FROM SERIAL NR. 100097688)
All relays, and the digital inputs J13 - J17 have LED’s , showing the contact is closed or which relay is active.
Connectors and relays in red are always functional and in blue are optional.

J16-)17  Signal J7-115 26-53 Thermistor in Blower
5Vdc Gnd  Signal Gnd

32-15 Doorswitch
1. [ ] [ ] 1. [ ] M2 D%

Rel Rell[Rel Rel.| |Rel.
ol folh 121113

I, J5 | L] ®

Rel.1 Rel4

4 @ 5 4@6
v

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021




ELECTRICAL DIAGRAMS

form 9120929 rev. 04/2021

s
a

Service Manual Turbo Deli Rotisserie

eV | 3 7180626 (A80Z-Yd £ 1/d £ Hal wesberg yinour) ovu_._._mm
3718 EL] HIBUIN NOL
7180626 3 L:
110606 w
—~ | U3 (00}
N
©0
m souea0] uosg ueweas) sa8yung WUENEEI ueg - .WE R0LT3N0 AN L)
(o) 40104 - €S NOILdO| Z10Z°60 G0
o EX| 710Cv0'8C) S |
o AIND r , 1
l=) NOISYIA | M (G3)00E€/000€/000€ + 8// HAL [
= j@ﬁ 3 ho0BlE s HaL
: 0 T SHILVIA =
= @ | N =
¥Imo1e [ v | %%a
- 8, 6, | | 8 8 8 b L e %, 9
T T p
m z8) Tz [43h) | f4su] z4] [4<u] 783 gy S 2 1S . [4:5] :
o | | [Z24) mc
LLl T %
v w | (v |a ne ZE -
— | | €l I 174 0z 8l
“ Al Al
= Cor] (ew) ! Cod e g [
=2 ] | | = 4 - s bt
> b L 13 3 [n
=~ L H Bl ¢ mm:ax
- HM €
w o o€ 8 L u ol 1z 6l Ll
r NOILd0] 9
(a] f f -
[ NOILdO] 21 11 €1 21 11
HM
<= f IWH f IWH : | | {\l/mx /4\ \kﬁx
A | | é é H1 | Z| woLod | u 1 €l u 1
1VLSOWHIHL
o | | o CH g XVH | N1 |
LN 7] SX I €S
o f = |l | =g LHoe2
fa) L %L \ \ o < - 09 B 7y 9% L 14 €
| = = 9z
M w | | | | | |
Slealzsl szl slezls FHEGE RS : a2
< 2l =l s HIE i TR = 2 woL :
o 3 ES = +— = 5
14 14 z
U Z
A AW4W H4 L
= |
| AY1dSIO it oy oy e oy s o ,ﬂ
— m 85 am 5|2 SIRS|EE(R 5| |&
) : e
O o [oc fos fes | !
o £ /85| | ¢y
v 5[] T
14 z
g /4s
0001 Ld
dW3L N3AD SIHILIMS 4000

Page 76




ELECTRICAL DIAGRAMS

Hm
— =<
»E | = O
i ) o =
[ =N Slg
| ‘ZE c =
faal S 1O Ol o — HMEINE
= Linws |3 O Ol : T :@@ ég@jm SEIH
. %588 B = £
—= g S pr
L 186 5= 3 o [ . -
=) =l 2 8 o
- = |em || £
o < 8 83| | s
2 5 :|25 | §
= “ O|8|&E T
= < +—t g £ - §=
2 H 2 " Sk
moE = 09/ LZ L BRI
2 I E i< |8
o & E gl¥6: || U 8
59 < =1 22
E 2 we ) ~elsk [EE @ (M
- T " Tt
<+ 3 o i E
Y - N N 3unds sexf ot {M
= (%) VZfiudS
EZ*LH@H LE e 69
o L L % 7gmoa | 85
Zinay o 26 7
L 82 egog T 2 |
\
SZ*LHBN ;%\
= 2 |0 Oz ] e g *‘
= 1A
— Lymoos o ole ‘ ‘ L S&Ye g1 ‘
IO R o _
, o — 1
‘g@/@g ‘: S ang o
| B Lz gamr | . \
A \ T F \
N MDA € —ang paJ g
Lo Id g [0 3
L _ ] 9 1440 D} ﬁ\,dwﬂ 3yrym © - §‘
) 3 - |
= L 975 Aot i |
n L _—— _
Naj
o~
o~
Py
=
- OO0
3
: I, -
2 () o o o B 3 3 - o~ A
~ 7 [0 W €L Sz 1L 1
E e e e e el ) =] glelololo)| [eldol2l2
— o o
. p == EEEE o £ — £
B = D D ol > = ~ 2
= — = = O o
= o =3
0O s S == e = =] _| [Q]2]00[2| | 2|2 012],
2 w0 = Y o e S
o
= P @) (2] =| (2] [=]
NAAHHHARA 3 S )
~ o
EPEEEOEE "

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 77



o=
L )

ELECTRICAL DIAGRAMS

CIRCUIT DIAGRAM TDR 5M AND 7M

'
e
“e

0080828, | 35| £y e B WS W
0LOZLLOE g | hed| - s0r | Opel-1ay "
210280 "0 ze o
Tayen thisiaas
E—
Sk,
ASOZ W HOl wedbetqg }InoJt)
word1os3p
Ud €/4d L| 2L0Z2°'90°LL| 2
¢4 4] ¢loc 8008 G 112 (53) 00EE/000€/000€ * £ HAL
WU01STAS] U011dT0%8p 1316 U0ISTAB] | WUDTSTAB >~EO 11eM Q08LXE ¢ G HAL
uoTsJap .
woyyog SJ3}D3H -
14
[ yol
VR —4 %}
OS] S S
| | ” 3
_ 4IM018 Y010W | N4 |
95 | | 6y A ki v@\
f
6 o | | LS
& 6¢ | |
o3 N | Ly | b4 0z 9l
0= - f f % 9z
141 v vg L 7\2 i MZ i
_ND ﬂfm_ ¥v18 NZ , [ | 3 3
Ly in¢ L 2 2
;I_Hz | | 73 = 13| = 53 k2| €3
¢t ne M
%4 f f
" | |
8y 24 € 1z 6l i
z Yl
ZHL/SS 1 | |
| ° | |
3
s | E— f f N | R e
. L 8¢ 2 AN €] 27 L
LHL/ S N 7 7 | | 2 | I
. ] | | [ N ) I [ I 2 DO |
es f f 4 4 L 8 6
13 1
& | |
| |
Al o€ |
o | |
2l | | | 70l
LY 7 7 — %)
! | I o - m
x4
L g i 8s | | f o
8 1 g 7 e g B N A )
| s pims - f
Joog Jojoy

S

HIWIL

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 78



7975805-9£€0) 1€+ ixej
0075805-9/C0) e+ 13}

opel-Ly = |
v 0T m. " N80Z~L _| N80Z~€ |_

£(806¢6 us 1003 ,m< Jna7-ua 8

LJaquny Butaep ihq uelp

OLOZTVL Q81 ] buk| ey
2107780 "0¢

Tajep Uoisiral

8/8Y
8png

Page 79

form 9120929 rev. 04/2021

B@ - IS .
“we VSN ABOC W ddL wedbel( cﬂ:%ﬁ? IIIII
9 yoyimg ubel uo sadIp | Z10Z ‘80 80 3
Z4 'L4| z1woz8ot0e| 4 ATup
orstres WPt P WoieTie) | Worsaad uoTsSJa)p
EOuuom
3] 0§ r————- -
\l_H_./\ i i ¢ Z l - ¥ q 9
Gy sie! — LY
s | | ONONO©, CGRONO
= [ _ _ _ | —87 @ LS
D Mg%w%uﬁ we%m%uﬁ L | T e @ @ @ Q @
= 0 6 8 L 2z 07 19/8l ]
A g 6 IS &S
u! i INEIE IBEIEE
== 4s +a 9t 4S RIS Tt
= g — ] a]w T T
o | WS H o€ 5L H L |9v] sz] €
()] 258
< _m " 12 [ 6€ ey wl Z€] Jawl T T
e s 07 8¢ R Yaums yaubop 424ms J1}auboy
= @N @ @ O
O V.| ¢S €S
=| W= @ © ®@
O G) 6C Lt 8¢ LS
e A 9l €l
0 = %30) g uol}33uu0)
5 _ |2 [=000ggO
) S P
— ¢ |4aW| 92 Y| MW
=2 5 < "z €2 o|— 2 LW M5
[~= oY) oo [ Pt A /44 A O I
M oo ©o B B S T v B L R
126l LI18LOZ 72 84| 23| 6v|6Y|2d|8z| L] 1)
sef] el
= : €6 €€ 7€ S€ €5
3 sjuawa)3 buiynay - U
mTs 0¢
GS | HL
] z¢
L]
Al ll
AN

Service Manual Turbo Deli Rotisserie



o ™o

’®®
/9 ELECTRICAL DIAGRAMS
. - -
*? fri-jado
1
_ _ P2 P1 P3 _
- -1
| |
S1, olilz2 lohl2 lohl2 |
L _12_ ) _ 3 _ 14
14 7 9
1
| \2
14
i 7 10
C1 brn blk .
=
L@D S § HEATER
o~
bl o
15 11 13
R R N
sl | s 2ggleee] [gzgece], [2agaee],
[ty Sl sty | —
‘ ° > / ‘ } L1 L2 L3 H L1L2L3 N H L1 N/L2 }
| | 3~ 230V 5 1N~ 230V
ST sz Oj2 Oj2 | L _ 3"200v_ _ L _ SNT400V .y 27208V
Ll __ 1 __L_3
P6 PS5 p7 9290850
2

a0
2
3
2 1 3
F= 7k P2 P31
I I
oniz wwhiz NIz
Sh il !
[ = R (=S
7 8 9
1 Tt T .- - T .- - T - T- o —C- =
ﬁ'\23456Tﬁ123456jﬁ123456j
I\, ‘@@@@?@”L@@@H?@@‘“’99@”??@“
I INleeoeoloaolll[paloao]|l
I = 1 b= 1 S
17 15 14 13 | 3:230\/ |l 3NT 400V | TN~ 230V |
b1 e o
= = Del ivery connections
= z sl 20 ¢
g g g S HEATERS
[:/‘ o~ o — —
Tbl k 18 16 11 12
10 11 12
= 7Js 7/[’57 Ty
| |
31 : ol 2 ojz ol |2 :
L _1PS _IP6 _ IP7 |
01 |25.10.2013 |Connections
4 FEVISIDN | REY. DATE [
T priviple o Tewae e st e T
S T
HATERLAL ART. NUYEER [ Koolen [ seercven
6 WNT_nm [stanus_In Progress ove__ 08.07.2011
@GA SouE 1: 1 \Pmm 929 DRAVING NUNBER 9290851
s
= TP R R o oE
== fri-Jado Circuit Diagram TOV8 9290851 A | A3

Page 80

Service

Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021




ELECTRICAL DIAGRAMS

o ™o

o
’
0

‘ fri-iado

WIRING DIAGRAM TDW 5

1
CONNECTION BLOCK
[a s
g £ D3
S |8 z 1 15 BLOWER
o |E = Euxk ben |0l | ©
c;z £ 15 uF
A ‘ ‘ u o
1 et
7 79 1B B THERMOSTAT S B
1 7 3 4 5 12 7 =
st LT [
L
HEATING ELEMENT | g
[ S YO ) I
1 2
2500 WATT ;?:1
10 13
[+ 2 I
| 6ooleee HLeeeJeee H eeeeee ‘
Y Il 123 DR
L 3:%38\‘7 - JL 3N~AOOV J L 2~2()8v7 J
1 18
CONNECTION BLOCK
= = DO |® £
w |2 = 18 17 w |2
= (& < 1 1 = |8
wo|E Eblk brn [ bl E| J|E
S |2 15 uF 10 7 = (£
e | | ¢ e
ol
0 ]
15 78 9 01 12 THERMOSTAT 17
T2z 3 & 5 b 7 BLOWER
3 !
I 8] ]
HEATING ELEMENT | | | | | | | L HEATING ELEMENT
21 3 5 4 6 \ Q
1500 WATT 1500 WATT
% 1 3 12
1723 t56 I 123 456 |[ 123 456 |
|999?9 ||999J969|||—E%J99?|
| 0 Il vz v ] S 230\r/!/Lz |
L _{%331 _ JI_ wesoor || g _|
Delivery Connections
9290861

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 81



Y ﬁmommmm us [0} ey
oqun Bur

ep dquelp | ets

L10C 6061
ep

form 9120929 rev. 04/2021

ELECTRICAL DIAGRAMS (BEFORE SEPTEMBER 2014)

¢ 10Z ‘60 ‘GO a
e — —
s58(3 asuesa (o) sue oI rimen
<W @7 - ,g%ﬂ@ﬁ L | _ voyrauuod huannap
A8OC d Ygl wedberg ytnoJrgy T T T T T T T T T T
o1y 1u050p
Z4 ‘14| zlozgooe| 2 r 1
— ATup | K (G3)00€E€/000€/000€ * 8/, d€AL |
HO10H - €5 NOILdO| ¢lOoC¢ '60°'G0| d UoTsJs) M 008LXE ¢ G Hal
oteimer v e s w0 woyog - _
_ SHILVYIH
| o
N VoL
4IM018 oy : : o
N #1084 @ femy o —H g 28 9
8, 6 6, 8 8 8, ‘4 g
780 1280 780 280 28] 28) , 8 E
Sl | 280 v

o 0 (o) Ce0 ()

|

|

| |
| |

by % | 84 | & Ng
o e 7 | € m 144 4 8

| |
| |
| |
|

Service Manual Turbo Deli Rotisserie

: m &
ng 28 [ yn = =
HM = —|
o o b s Sl [ 3| \E €3
L] F SUILYIH
£6 - HM €
- _Noudo - H ot @ g o o o 1z 6l m
f f sif &X NOILdD
f | HA M N a0 n{ 1 ol “ a0 i 71
IWH IWH y | | ol _ _ (Y
| | HL , Z| 40104 , Lu wl [ 4 ul g
w CW | LVISOWHIHL “XVW \ g T - I 7T 7
| | e W es
' = | | == L
L — %L \ \ - e o 09 4 o (e ' z ;
= = 9z
Ml I | I -
Slezle HEYSES B3 2 [3a
] £38 b g ¥ol s
= —H 05 € <
H E! z
of
N Pl
2

AYdSIO _H

000L1d 1Y o
dW3l N3AO

INOH4

[y
[=
=
o
(*)]
O
=
=
=)
-—
o
LLI
m
=
=
<
-
!
o
Ll
w
-
—
-
=
2
o
M~
o
=
<
o.
(T
0
o
-
=
<
o
O
!
o
E
-}
v
e
v

S3IHILIMS HoOT

Page 82




ELECTRICAL DIAGRAMS

—| =| @
- o o =
Wﬁ SN NgS
S [Eo| SIER
@g 5O «|po
~ - ERN PR
K 2O BN|S
o C
- & [0 0k | | ¢S NS 55
— ~ — O — 0= o %O
—] Lymoos | 1 2% = S £S
O O -
ool | T %hE : 5| | =
‘ Lo w =
© o~ m=>0 Q = |
RS =] - = B |20
‘ ‘ [am 5 B |B<C
~ a
oE o | @]
<T - (= .
L _ o B |5 o o ~g %
2o IR (‘D T T
= 2 g5 _s
© 5|0 o 3= Bz
{ 22 <
£ S| | e gz 3=
c 2
5] {5 | © 22 3
= C 32 £%
5 o Nl B2 )
- (%] S Soa B8 5
£ L= 8 =
S < g x 3o | 1 bd
3 R o o g2 o E
- g § § -m X g o C Y -
o™ |- mon
< 09/ L2 CiE L "~ %
5.5 Bz ]
w|o 50y =5
< b= |2 zE
El—
Bz
«

M2

3, 33 26
plye red block white ..o

21 191718 2022

By
Jeax i “
aJods %
L an S Ng
w ¢ T nds

£7 g
|ax 08X 75000
g | <€

Q-0
8z Sl
L 8% Ta00a @_ﬁ
| 68X [ON0,
g Tioay v
- — — 12 -
= 2 |0 Ol= Xiar\m/\ o q:>~:
—] Lymoos o olo L S fegmar N

[S]
i
I L

1
|
\
_ | & Mozx]
o @
ls
™M ‘
(9]
_

L7 7g0a1 < \ ° ‘
1 2 -
o 3AIDA €5 poJ o g ‘ . _ ‘
_ 5 22x §| g
1440 uD} P ETR IR z = g
p— z .
5@ g\ . \
L 9% TA5 ot | -|o- |
L —— _ ]

[0 —

53 34 33 26 53

28 (A2

)
- —EE - 53 z
2 Jgy [ [ o f SRR 1 b I
z GIP = [EEEEEoE 2lolelelo| (2ldlel2e
. . Te==EEEE o~ S — £
e =4 | < E < g
=LC B 2 o022 |02le[2@
0O 3 | FEEEEE = “LL"Lﬂi@

[©N
@D ]
@D ]
) |
) |
) |
D |
D |
) |

®0000E®E

Service Manual Turbo Deli Rotisserie  form 9120929 rev. 04/2021 Page 83



1
<
o0
(o)}
LN
(=)
o
(=)
-
o
LLl
(a'a]
=
=
2
—
<
o

2N

=

- E

I M=

al =

= 2

o

| H-%

_07

= Ha)

=
<

oo

LN

o

()]

-

=

<

o

O

<

(]

=

)

)

oc

o

1975805-8/(0) 1E+ X8}
00! (A O

opel-11y m

7180626 Gafooy[  gy| neTvena n 0sey

Jo0un) urae.p Aqwel | sms 208 Shaveay

110Z '60 mmw — ,—:ww aneT-uB)13 VY 8/8Y

= B Rtk
_——

EICIE

;m_%
HOL
o by

ABOZ d HQL wedbetg yInoJr)

worydiazsep

uoyI3uu0d K4aAap

IR
P

WHO 0001 -1d

saydyms Joog

ap1sino Joystuaayl| 1102724 0Z] v re 1
— A14p | }1eM (G3) 00EE/000E/000E £ HAL |
Ud €/4d L| ZL0Z°90°LL| 8 uoTsJap 118N 008LXE G HOL
wotsias Wit 319 Wisined | otsiral woyyoqg . _
= SY3LVY3IH =
& IO, &
¥IM0TE | wmme | HOLOW v o_|u@ & 9 MW\
L , , “ 8 S &
| | Y0 53 &
99 1 LS Y
| | Yol VE|
LHM @
pal i i
1HM an @ i @ i e SYILVIH
s Y i i €l W 144 o -3
me * | Ly | Nag " & =
f f a3 13 3| 13 €3
u 74 6l U
1HM 7’ - L n ¢
d
it I Ro
]
| - o wl___| M a( "~ n{"1 Mol —a( = a1
INH f INH ? Hl LhM AL | | I Ly
f [IES T [ I 2 I |
i 4 SY " 3 z €
sz
7
N [ :
=
| | & | | ) | s ®
HEEEER gPalx apzl Zags wwm B e B PPE
3 e gh= "= ™ = R — —
€ 1
2]
H_ 5] glN y z
]
L og [
— S
Avidsia _l M_m Wm g T

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 84



ELECTRICAL DIAGRAMS

Page 85

form 9120929 rev. 04/2021

o Smmmmw.é CAS| Y| remawes) aEewe e e -
d L0201 momN e | o ana-u O‘“_l_.-& A80z~Z ABOZ~E ~ =
a \1} NBN&.%@:WWM s_mH)W uﬂ“mﬁ 7 1818348y apng ” : | Nm\m u@ , u@n LL] V] 0€
[ - 40LIVINO |
" M mumwﬂis uewyean, | ssavponyy [e1sajeu , 1 7 “ Fm\w n@ @n 6l
v - HaL o ole e e 0%/ S | 1z
- ” ySn 09e-4 wedberq mcm.uﬁzk ||||| I__I ol m|<| BN u@ LA @m
o wor1d14s3p uby33uun3 Kuanap
o 87/4y 21k | 2102°50°0L] 8@ S @ [2v] 8
= Yd €/ud L[ z10z'90°zZ| 3 - T
uuuuuuuuuuuu 11053 218p UDISIAG | UDIS[ABS = — Nh\mw
T . L2l @ @ oLl Ly
m = . - ‘. : : S@g::zou@ .
[ [)e [ . B O R I B S S
W_ _3 g7 Ved = mmmw &g mmmmmm MNXM
> — 5 & SERE Ry BHBEYEE S S| [ev|ewe
L %ﬁ E& il
| asn4
< =
T g, =% Es 5 =
‘._H; 2 EE EE ER
.b A ® $ 3 8 3 3 a3 S
= S LR B B LR -
= d d
=2 m mmi msmmww vewwww O QM_ _H_ _H_ 6 R@ Q
= oo y . CENOIN |[DINDEICENC
o UOTSJBA g 4oz T O OM _H_ _H_ _H_ L NO O
wojjog
W e - —] - o — © O olglO] IHIICHENC,
e 7 L, G®  Ologo]] ] [
< @ * O Oloool ] [ ®
o ﬁ Lf O [ ololo]] [« [ @
= [ —— @Ion [ [®
T iiEl
8 5 L @nfolol [ ]®
s o o 2207 8LLL 6L 12 oo zey [
%1078 NOILJINND]
M afl of] €5 92 €€ € €5
2 G G
< g g
— B £
ra) m sjuaway3 buyoay e SHOL1IYdY)
O
P
[ s
LVLSDWHIHL HL
wll
= ol oz g e ot
N—\/_ J,02€ XYW

Service Manual Turbo Deli Rotisserie




ELECTRICAL DIAGRAMS

PT-1000 OHM

DISPLAY

—]
HM

T ax
Ng
ox

TN

100 Aok

i
9
17X
LdWIL
723

o | PT
(743

Door Switches

3215

n

punoJi—

—
HM

—
¢4jouny)
—
1y ugy
B - S
0) uD} P § §
o < }i
5 2 .
N 1SS z
\=/ ¢ z < ;>
LJjouny |9z
5
3MDA |
=
IADA <
s [l
LD3y | 5 — ——————— ] S
6 — -
| 5 ) 2 g |
\=/ 2
Z*DSL{i L iiiiiiii 777J
2
1ubn | €2 [ =
wx _ m
S
F <
= - .
g ) 1o
;
QJDZES u
ax |
=
[D &
X =
SLx
suow
-
~
<
I
= > :I—‘
- —HOM 05—
7 s 5 =
| | L
3 1=~ om(—‘
NI LT = )
SIE M :T
il | F
iy oy e ~
oo | o
o = ™ _ =
o .l | o
= = o
~] ‘ S A I ‘ MQ ‘
[ N
o | 28 |
=2 =
! ! els Q =
| | o ®g
T T ‘ < S ‘
- - solep]
= =
- - p |
ij (m (; LO ™~
- = ‘ o ‘
= : °5
L]
[0 Y ﬁ‘ _
o
sl ol Q8
L =
o o
™M

description revision:

Thermistor outside

revision date;

20.12. 2011

revision:

A

description

Circuit Diagram TDR P (3 Ph-208V)

EX=T

Tolerance class:

revision dale:

19.08. 2011

draving nunber:

20.12.2011

date:

9290814

revision:

A

status

Koolen

arown by:

Thickness: | {realmenl:

checked:

scale:

A3

for product:
TBR

nalerial:

-
~ >
@

Oude Kerkst

~% fri-jado| ¥

4870 AN Etten-Leur

+31 (0)76-5085400
31 (0)76-5085444

tel
fax:

Version
Only

Page 86

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021



ELECTRICAL DIAGRAMS

M2
34, 33 26

blye req block white .

MAX 320°C

_[LB

ﬂﬂ

THERMOSTAT

o~

11YM 00§

=

1%
el
(==
@
E
@
(5.
(=)
=
=
o
1}
=

<

L11YM 005

53 34 33 26 53

=

TH

30 ]

25 ]

a CAPACITORS Q

=

CONNECTION BLOCK

@) |
@) |

®

®

®

5

®

®

28@

Mo
5z ~
23 z} ®
M 1 L 3
\ \ o N
= 52 23 &
oo 7T I Zix T U L
25 838 0 215 B f ke
oE = = o
o 2 0% a4 £5 o8
s ot Lo 8o
ERSEaa= CENE
=S| © g2 Zg
C 25 £5
NN o | =2
LT - L ég b :r o0
m e = & oo
17+ §2|5] 5 *
. ECl °
N L ( <=l | -
S B =l
S g
©
= s —
[®)) £X
T fids
L
@ +— by e
Lua L 075000
¢403y 57 A3
|8 gmog T o
Z 100y — -
O Ol= ’Lamur\ B e -
O Olo T4 Ty 2 | n[0-0|= |
- £ |~o-0|s B
z )
e £ | -|o-0|= ™ |
y bal pTETY sL_—
L g5t ey O —I
9¢ L e 1d
1110 UD} nadal yyE TR KNS
Y ang
ﬂlﬂﬂ AOL
MM T ®
NDDDDDDDDD L 3 ~ © o
2V, on__ v €L 9 zL o[ L E
e EEEEEE | | 2lolelolo)| [elZ2l2l2
[a s [a
SEEEEEsEE ~ Bl <
D D 2 N
g g
A=l [=[=[=][- o002 |212|2012,
N e S e B
= (=]
5 2
&

Service Manual Turbo Deli Rotisserie

form 9120929 rev. 04/2021

Page 87



L)
-
<
00
o0
n
=)
o
o
-
o
L
om
=
- |
2
-
<
o
L
SS
=|
=il =
O N==
<| =
il 2
S
= =
_07
|l O
mE =
<
>
N
o
()]
-
=
<
o
G)
S
(a)]
=
=)
@)
o
O

IN31-UB)YT NY 0/8Y | 17SB0S-9/C0) 1e+  Xe}

0) g+ )

E\”\

us [00
OGS, | R gy e
Loz L o8 oo | k| ety vy o0 | OPRI
cL0C’90 " |1 J ¢ Jeeeey Fpng
o Mrstier | uersyll | sponyp
queajens | ssanpry

EEE
5@ -

;s%
4L
o,

ABOZ W 4Ol wedbetg 3y1naJry

un}yI3un0d AIanap

:Izl:
]

aprsing Joystuayl | ZL0Z°10°EL| 8
4d E/4d 1] 2102790 L) 3 118H (G3) 00EE/000E/000E ¢ / HAL
AR A VTR R 0 worear | wereiie cogm'ﬁm T8 0081Xe ¢ © ual
uo3jog SJalnay = o
id
[ ]
—h
\oj f f 65 L\ i_@\
YO T
/] f | —h | of
for—tg4 85 i S
» ¥ImMn18 HOLOW | NV | V\«U\
: | Y T —7 !
f
75 s | | LS
¢y o f f
o S | L | 2z 0z 8
Nui W 7\@ | | 9% 14
v e | |
() LGy - CH J T
v ane 1 i i M =S
2 LHM i i 3 13 53 3 3
nig M
1 | |
€5 | |
87 s € IZ 6l o
z Yl
I ZH1/5S m e f f
( [ 1 | |
e
. m 8 | | Mal" "nul 7l MaC — 20 a0 7
IE\i | | _ | o _ |
f L7 i | | Lal g Le _oaf ol
A | | 59 " L 8 6
€ 1
& o | f
2] o€ | |
TS f f
24 | | |
Lo n
o ” ” ey O Lf\ MQ
—1
TR TS z hw\
LU ¢ 48 8s | | f &
0w 1 a7 9 LT g L ER e M A )
PimMg 14Ms |
Jonq 4040y _\m

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 88



ELECTRICAL DIAGRAMS

o eegeee | usIoodl gy e s% urﬁw WEES kW
] OVOZUL GG s k| wopuzwom|OPOl-MY e |
a ﬂl N—ON,.@O un , um_ ,u“K 7 1eeJdisiuay apng " 807~ _| A80Z~E |_
8 mumwﬂiﬁ 1)Uau}eay | issawfITyy 1[e1Ja)eu
o) R
- 4
a VSN A0Z W YOl wedubetq mci_%
m ue4 uo11doduUo] | Z102°€0°/0| 3
- ud £/4d4 L| Z10Z'90°ZL| @ A1up
o o 1s1Ass worydriosep 131ep UostAad | tUotsiaal UoTsSJs\
w e EOHwom
o 1S s
[ o
= ﬁ_u_) ﬁ_u_) ﬁ_u_) T
U Vad *V4 =i ” — LY ” @ @
m —1 — — | —8r 1S
d d
< XY R e I J o vol
m 09 15 2§ 85/07
7 65 85 /S 1, \ H._ %_m_ m IHEIEE
L | Fv_ 8 9 k] 4
= 7 5 or |85 1o SAIEN Tl elu T T
= LY — L o¢ o — IHE1E
W d _n_ | _n_ | 0y 1 el 2 o (7l [ 27]
uwy 0l w ol uy 0l
= g ssng G dsn y osny Mw MW M m@_ Yaums 3uauboy yIums yauboy
= (A Ty €S
~ ® © ® J©
fa) (YA mmo— I um@
= ¥30)g uoi433uun)
< HEIEI000ee[e
= L 1e5] 6e | am -
= . o Sl_|ss| el || za) v M
(' ) S8 (g 13 P O A O R N
o o0 0o _|oe]os|es| | Joe] |
= 126l LI8LOZ ZZ 8v| 21| 6% zi1|8z| 13] 13
s il @]
<
o g g HL |%S 73
) = z €6 €€ Y€ G€ €5
A 3 sjuawa)3 buiyoay - L L
= nlr i€ ot
= m =i GS | HI
> 1 ze
= T »
— ol Yz
N

Page 89

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie




)
O
M
N
00
LN
=)
o
o
-
o
L
om
=
- |
2
-
g
o
L
SS
=|
=il =
O N==
<| =
il 2
S
= =
U.I
|l O
mE =
<
>
N
o
()]
-
=
<
o
G)
S
(a)]
=
=)
@)
o
@)

N TITGE08-9C0) 16+ 9
0c806ce | uslod| gyl CRIME | gkl le
oG _ : ———
oLoc L g8 s | bk| notueny3 v oy | OPRIFG "
20z 10l g ¢ yeeeey epng
98P UO[SIASS UOTSTABY PRI
185910 BRI "!l_lﬂ. SRPIYY MUY
=2 -

(ABOC-Yd €) W

ygl wedberq YInod1]

001 1d1459p
JOJOW § Uej UOTJOBUUOD ‘sasny | |LOZ 'BO YL | V
apIsINg JojstuJayl | Z10Z°L0EL| 8
078140 U0 1d7J050p 13)ep UOISIASY | ‘UOISIAGL \A_“CD
uoTSJa)
wojlog
> 1
& >/ 1<
| |
dimoig YOLOW | N
5 ! ! 139H (G3) 00EE/000E/000E * / WAL
75 o _ _ 118M 008LXE ¢ G HAL
| |
13 6¢
L Ny 8 _ _
2] | Ly | 9 T 144 74 8l
ins /M LW
Al Al - _ _
Lo ] [(w] e LN LHM <N i .
v W ang 5} | | m g
LHM | | 4 13 53 3 €3
% ng M
2 | |
€5
| g | 5 €@ 1z 6 o
z Yl
E NI._.\mm LHM €s _ _
, \ur— % | |
Ie I
g Lh 8¢ | ! 21 I 3 2 SN
N'—”_ LHL/7S — _ _ (k2 |
: zs #Jiom e | | LS 2 I 7Y B IS
5 7 L 8 6
€€ . _ |
62 a | |
| | A80Z Ud €
2 0€ | =
Ml 1 | | =tcs
2] _ | |
€ 6 —h
_Ilﬁl_ | _ " o Tgq &8 - mh\um._
| | e T _ 2z
LU : R as | | —t 4 I QN._
w1 o e g L S ovor tLy O A LT
| RIS Ya4ms _
@ J00Q Jnyoy 1S
HIWIL

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie

Page 90



ELECTRICAL DIAGRAMS

Page 91

o CTB0RTR | 2SSA] SN[ TVeRIWOE WELEBE
0L0Z 'LL'0E ST e ——
M \fw N—oWMw._\ﬁm 1« «-ﬁ_z ..Mm.._oow#ﬁ._& apng %‘—.-—.-&. ” ==
" 3 [STASJ u!_:s.tl._ [ §
M N~ 18910 BRIAT0Y uau1eRd) | sESRURIYY + [91403U | _ 80t _
= 00 Ri=1C7 s il | eea |
o ¥SN ABOZ W HOL wedberg Butty R
m sasnj § uOT1}08ULO] | ZLOZ'ZO'YZ| ¥ L2t
-— A i) suol4I3uu0l A4aanag
“U01S1A8) VO] 101358p 216p UOISIAS) | 'UOISIAGL UOTISJ3A
m wojylog
o 14 IS s _ _ _
= I B
) 79 Gy 55 | EYPE = ]
> _ _ ©® O ® 06
< _ _ [ _ _ _ | —87 LS
< duy 01 duy g1 duy 01 L _ @ ® © ONOXC]
-~ £ asnyg Z 8sn4 p8sny 0 = = = — — — [ Jev —
= 26 81/8 07/L 1
w 09 15 7§ 6z 42
) ! e w_ %_m_w [ee[ 5[
= B8S fa o 45 i & M
= — 1, o i — _ [97] sz e
P Jawi]
) 0 1z [6Eley  wy[2E] e T
~ 0% m ooyl 434IMS 143uboyy 424IMS 3143uboy
@ ©
= e s I e
N MW m ®
8¢
m 9l L
%1014 uol433uLo]
< _ el OOOOTO
9| LS
M L7 | e ae [Yan -
LN 9 7 VAR YA O|m@|m|||w|¢EEO
e L 0o o] selyn] ue] | ] =
a) o 0o A £
- 126l LIBLOZ 72 z3| s 23| 8z 13| 1)
S s[] €]
<
[ 5 g HL %S 7)
V) = B €5 GE €€ € €5 T
A = sjuawa)3 buiioay =
¢S | HL
O A
2 L]
o Al nl
N

form 9120929 rev. 04/2021

Service Manual Turbo Deli Rotisserie




For technical support call: +1 877 374 5236

- S o

593
** fri-jado
Fri-Jado Inc. « 1401 Davey Road e Suite 100 ¢ Woodridge IL 60517 e USA e fax +1 630 689 1424
¢ us.info@frijado.com e www.frijado.com e USA e toll free 877-FRI-JADO






